et e /S wlten, feeae-2018

LEIERIE]

T Wigd fgdia woa-us &7 T ) >

1. Which of the following are associated with
haptic memory?/fr=fafigas @ @ &= wiis
wfe @ dafira §-

(i) Sensory memory/¥adr Ffa

(ii) Related with touch stimuli/&rd s, &|

AT
(iii) Parietal lobe/m= qifd -~
(iv) It involves cutancous and k:nwﬂm:c.s?_tﬁﬂ
3 fa "dem wfira g g1
Choose the correct answer ﬁom lhe codc given
below:/-= fZg T F‘R\H Eﬁ it gfe-
Code: [&e:
(a) (i), (i1) angd fu}fﬁ) (||]3fr{{m)
(b) (e mﬁnnu{w)f (i), (iii) 3 (iv)
(c) (t]ﬂnd tli’).-" (i) 3 (i)
(d) (i), '), (i) and (iv)
Ans. (d) : 3w W97 =RfE =fa @ d@Ekm & =
Hae 4 wdfun g @ witfs gy w0 8
2. Guilford initially started his work on SOI
extending Thurslone's theory of primary
abilities but later on diverged on the grounds/

firerwrg 3 o= & wraite saane & R
HT AT @I §C SOI W w4 I fomar wifen

NATans, (@) :

Code; fﬁﬁ; \
(@) i) and (iv)/ (i), (iii) 3 (iv)
{h} (ni}aml (iv)/ (iii) 3 (iv)
(L} (i) and (ii)/ (I)Qﬂ'{ (i1)
(d) (i), (it and (iii)/ (i), (i) 3R Giii)
g # e feame 4 Ea @9 3R 3=
w0 ERE U i fawE & oA | e gm S
T I A FR0 4
3. In group counsclling, there is a typical order of
various stages./aqg vyt W fafum o &
s AUTETT A BT §-
(i) Norming/SHZIEw]
(i) Performing/S=¥i=
(iii) Forming/@r=
(iv) Storming/1 W § M Fren
Choose the correet answer [rom the code given
below: /-4 &Y T 2 | w6 I -
Code:/aFe
(a) (i), (in), (), (1v)
(b) (iii), (iv), (i), (ii)
() (in), (1), (iv), (i1)
(d) (i), (1), (i) (iv)
Ans, (b) : 918 et 1w %
FAA— T T H I AAT—> TR —NEy

aeu E34d AT UT E B - 4. Match List | with List IT and select the correct
: : . ] : answer using the code given below:
(1) C-Ibla‘mi:d ) factors were not primary List I List 11
(independent) rather related (o each i e .
, . . (A) Night Terror (i) Disturbance in
other/NT@ & WAVE (@dd) @ 4 dfes
g sleep-wake cycle/t
N TE HCH afer a1 ) . (B) Restless Leg (ii) Cramps in calf and
(ii) Thurstone's factor analysis was mainly Syndrome fool muscles
oriented to get simple structure./T=A T (C) Nocturnal Leg (iii) Sensations in legs
T farvcmm qEE: FHRe HEA E & Cramps causing movements
o and loss of slecp
& 9 4l (D) Circadian Rhythm  (iv) Extreme agitation
(iii) It was found difficult to name the Disorder
abilites/factors found in data/3@2 # Ws Code: /&2:
ST/ I F A & A @ el 1 gl 1 # free e ey W g |
(iv) Like Thurstone, Guilford found second-order e I -
and higher-order factors. /9%A 1 R, Tl =
e 3 ot fafm 9 3 3=2 79wl & (A) T a3 (i) TA-I0F F 9% O
g CIE
Choose the correct answer from the code given (B) 3 W favgm (i) ﬁE—&'ﬂ Gl T &
below:/Hter T2 77 21 | wE I A wEUfeEl § Ua
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(C) 1 ¥ T @l U (i) W § waww @ A7
TZq s @ feem
T FRO 2

(D)few &= fagfa  (iv) Fios agam

(a) (a)-(iv), (b)- (31), (c)- (iii), (d)- (1)

(b) (a)- (i), (b)- (ii), (c)- (iii), (d)- (iv)

(€) (a)-(iv), (b)- (iii), (c)- (i), (d)- (i)

(d) (a)- (i), (b)- (iii). ()= (i1}, (d)- (iv)

5. Match List I with List 11 and selcct tl'lc wcorrect
answer using the code given b:ltms ) sl
List I Lisg I
(Part of Nerovous S\slgml {Rt-sﬁnnsc)
(n) Sympathetic (l} “Calmness
nervous system %

(b) Parasympathétic ° (ii) Emergency

nervougsystem reactions
(e) Plttu%ar}'gland (111) Arousal
[u.i] Sumallnncwuus (iv) ACTH

N &ysteit
(‘ude"fqﬁ'l
et | = et (1) ¥ fieme | e fad e
HE W W I g
gl =t 1
( feram w5 & @) ( argfewar)
(n) TG A T3 (i) wf=
(b) TRt A A (i) ST

faferamd

(c) Wrgd 7fa (iii) 3T
(d) Fafas dia a1 (iv) ACTH

(a) (a)- (iii), (b)- (i), (c)- (iv), (d)- (ii)
(b) (a)- (i), (b)- (iii), (c)- (ii), (d)- (iv)
(c) (a)- (iv), (b)- (ii), (c)- (iii}, (d)- (i)
(d) (a)- (i), (b)- (iii). (c)- (iv). (d)- (i)

Ans, (a) : g9 | il

(a) ST 77 (iii) Fvo

(b) wogdd @R A (i) i

(c) dr 7l (iv) ACTH

(d) Fafia fa @ (ii) ST el wfafrad

6. Given below are two statements one labelled as
Assestion (A) and the other labelled as Reason
(R). Read the statements and choose the correct

response by using codes given below. [ &
@y feu v &, el | uw afiaaw (A) §
aft gaw @ (R) & waAT @ ufgy ofw =
fau me F=z =y = w I gt

Ans. (c) : T=i 1 == 11

() UH Fw7ams  (iv) FlbE e

(h) 3w | (iii) W # wFm W Aw gEA s
favgm W et &7 &mor gmt 21

() T & TfF (i) fieeh 3R O 1 mwafwE ),
T fl_’-'l_'[ fl:757{ 4 _:"'. L
(d) st wa gl )89 srm & g a0

Assertion (A): Lopic oftenly affected by
emotionally loaded beliels. J'S-Im (A): T-l'uﬁ
FTaET WA W T AT ﬁ({rwﬂai‘rﬁ £
Reason (R): Powerful, b‘eln:f's head on lopical
discussions. /@ {R R WA -
et & amﬂ ﬁ'rﬁ £
Code:/ge: (7
(n) Bothy (M uhr.f (R) are true, but (R) is not the
wn‘eﬂ‘ cxplunﬂlmn of (A)/ (A) R (R) 2
(N, T (R), (A) W S A
':, {;h') (A) is false but (R) is true./ (A) Te 2, R
o/ (R T £
(¢} Both (A) and (R) are true and (R) is the
correct explanation of (AL () i (R) Eig]
wél & a4 (R), (A) F W = )
(d) (A) is true but (R) is false./ (A) &l g, 0t
(R) 7Ted 21
Ans. (¢) : (A) 3 (R) @A Té € a1 (R), (A) F1 FE
AT 81

7. Given below are two statements, one labelled as
Assertion (A) and the other Iabelled as Reason
(R). Read the statements and choose the correct

answer using the code given below: H=r
wa= gy § R @ us sfvma (A) | o
TEU 7 (R) &) wuEt @ ufgw oft = few o
HE T FANT HTFEN ST G

Assertion (A): The moderate similarity
between original list and interpolated list

results in more retroactive interfence. /

afamaT (A): goge o aiwdiym o=t &

dta waw sivft @t waEmer & oftom @y

atftres ggt-wat araing g 1

Reason (R): The moderate similarity between

original list and interpolated list results in

more response competition. /& (R): 9&1 Tt

s oidfym w=it & 9 wawm guft @

WU R URUTH WEY 3Nt swfmer

wieraTiET g £

Cude:fﬁc’.:

(a) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)./ (A) 3 (R) &HI
T € T (R), (A) F 78 == 76 21

(b) Both (A) and (R) are true, and (R) is the
correct explanation of (A)./ (A) 3T (R) Emi
W E I (R), (A) T == 2

(¢) (A) is false, but (R) is true/ (A) e & (R)
it 1

(d) (A) is true, but (R) is false/ (A) T & (R)

e gl

: (A) 3 (R) &F1 @ & 3 (R), (A) TE

Ans. (b)
=TT B
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8. Which of the following are correct for latent

learning?/Fraffaa § @ #9 aremw aftmm

& fory widt §-

(i) Latent learming is not translated into
performance/3/ Hfam weeia § ofafa
& 21

(i) Latent learning remains dormant for a
considerable length of time/37/=0w  3Ifemy
TarE WE 7 g0 ® T ¢

(iii) Reinforcement is not imporiant for latent
learning/37=e e & o gem amEves
T T g

(iv) Latent learning is cumplclc in one lrml#’ﬂﬁ‘ﬁﬁ L';

o= § wA § 9w & e

Choase the correct answer from the gode gi\en

below: lﬁ%ﬁwwﬁzunﬁmq}

Code:/&e: </

() (i), (i) and (iii) /(). {u}aﬁ?{li'}

(b) (i) and (i) /(i) o)

(<) (i) and (ii) AR Gi)

(d) (i), (i), (m}nnd\(w) (i), (i), fm]EFﬁ'{ (V)
Ans, (n) : BTSN Zonq @1 REr g3 w9y g
wmm‘sﬂﬂgﬁmmmaﬁmémﬂm
#l ya| T Aa £

9.

The tendency to pay attention primarily to the
information that affirms existing views refers
to/adu faemi & qg & Al e W
TES TATT 3 W YA S §-
(a) Hindsight eflect/avd 32 aime
(b) Confirmation bias/qf& qafrz
(¢) Belicl/favamm
(d) Reasoning/dHom
Ans. (b) : I qafwe A =fF A faad 1 Q@ 5@
el FEIE W TR & # AR ¥gE ©®W e
10.  Match List 1 with List Il and select the correct

answer using the code given below:

List 1 List 11

(Type of Test/Construct) (Example)

(A) Forced-choice test (i) Allport, Vernon and
Lindzey's Study of
Values

(ii) Edwards
Personality
Preferene
Schedule

(iii) Balanced Inventory
of Desirable

(B) Ipsative scores

(C) Projective test

Code: /&e:
T 1@ gt %ﬁmuﬁmgﬁq
el gt o
(ﬂammmm} ('aawzm)
(A}w-maufmq - ) anmr:‘ T 3
anmm
[B)mm a?a; (ii) %ﬁﬂ Afra TS
(C}:irrfrvﬁw (iii) 3feon sfwas S
:":Z\ ﬁﬁ:ﬁ @
"'-'-m) T-UTA/ B WEE (jv) TeAE PF e

(a) (a)-(iii), (b)- (iv), (c)- (i). (d)- (ii)
(b) (@)- (i), (b)- (i1), (c)- (iv), (d)- (iii)
(c) (a)-(ii), (b)- (iv), (c)- (i), (d)- (i)
(d) (a)- (i), (b)- (i), (€)= (iv), (d)- (iii)

Ans. (d) : T | el

(a) TGN ST (ii) UZGE SAfha G6R A

(b) T 3E (i) IenR, @, fie @ W e
AT

(c) Wit wlieror  (iv) JsifET e

(d) TaTen/efa WA (i) oA aEfEAsi @ wgiew
Al

1.  The basic elements of thought are/fSiva & W&

-

(i) Concepts/H7ea

(ii) Propositions/Ha=/F&m=
(iii) Images/Sframi

(iv) Intelligence/dfE

Choose the correct answer from the code given
below: /4rd &2 3z 7 & wft =1 971 FfA-
Code:/F2:

(a) (i), (ii) and (iii) /i), (ii) 3 (iii)

(b) (i) and (iv) /(i) 3 (iv)

(c) (i) and (i) /(i) 3R (ii)

(d) (i) and (iii) /(i) 3N (iii)

Ant.(n]:ﬁfﬂfﬂﬁ'&i‘iﬂﬁ@ﬁﬂﬁﬁmmél |

12.

The disruptive efTect that occurs when a novel
stimulus is presented along with an already

estabished conditional stimulus is called/S&
UE UEH W IEiua v & Wa Um
Iaeh T WA fean aman § | 3ad IR ann
WNTH TR -

{a) External inhibition/aT& 3

(b) Stimulus inhibition/3%® sty

(¢) Counter conditioning/Sfd e

Responding/T
(D) Sell-deception/ (iv) Rosenzweig PF
Impression Study
management

(d) Response inhibition/3rfEan aaiy
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Ans. (1) : 579 UF gel § AN IEE & WY UF 9
TS F N (A T 8 Al FHE I e g9

T I T §
13.  Match List I with List IT and select the correct
answer using the code given below:
List I List I1
(Indice) (Test)
(a) Work interference (i) MCMI

(b) Fake bad profiles (i) MMPI-II
(c) Capacity for status  (iii) MMPI-A
(d) Immalurity scale  (iv) CP]

Code:/&z:

T | it I g
= T
(gfemt) cvfmm

(u) T4 g mﬁcm

(b) T @Ua s (ii) MMPI-TI
(c) Reafir % fer st (i) MMPI-A
(d) srrEEa A, (iv) CPI

(a) (a}-(llm‘h} T, (c)- (iv), (d)- (iii)
(b) (a)yGilb), b)- (W), (c)- (i), (d)- (ii)
(&] (a)- ), tb)- (ii), (c)- (iii), (d)- (iv)
(d1¥a)Aiv), (b)- (iii), (c)- (i), (d)- (i)

Ans. () : T 1 w1l

(a) T8 TETT (i) MMPI-11

(b) I @TE EEE (i) MCMI

(c) Rafer & fw gmanr  (iv) CPI

(d) 3T TG (iii) MMPI-A

14,  Kcey issucs in the study of heredity-environment

effects on intelligence are/afg T smyafiTaRaT
QUG PRI & a9 W 0ET UES §-

(i) Reaction range/sfafsan ¥8R

(i) Proximal and distal causation/Tfiusy &l

e F TR

(iii) Collincarity/FtfaTa
(iv) Environment sphere/Tafator uftsm

Choose the correct answer from the code given
below:FﬁﬁﬁEﬂE@'ﬁ'ﬂﬂmgﬁm—
Code:/&E

() (i), (iii) and (iv)/ (i), (iii) 3 (iv)

(b) (iii) and (iv)/ (iii) 3T (iv)

(c) (i) and (ii)/ (i) 3 (ii)

(d) (i), (ii) and (iii)/ (i), (ii) 3R (i)

Ans. (d) : 9@ T AEITEFT THiaw SE & sreAaT 1§
YAt uE & qe qEdl ¥ e @ e s g

7 UF WER § T e § gahm g9 d

“Ab) Phenylketonuria

H‘Eﬁlﬂﬂﬂ?ﬁllﬁﬁﬁmmﬁﬁﬁﬂqe'?;_‘

Match List I with List 1I and select the correct
answer using the code given bé}ni'n \
List I List1h, |
(Concept) (Dei‘tnplmn)
(a) Cerebral Palsy . “{:) ﬂcn.*dllar}
condition in which
~, the brain's nerve
cells break down to
alTect physical
movements,
emotions and
cognitive abililies
(ii) Group of disorders
that aflect muscle
movement
Rare genetic
condition that
causes amino acids
o build up in the
body
(d) Huntington's disease (iv) Most common
genetic cause of
intellectual
disability

'.,____,

(c) Down Syndrome  (iii)

Code:/F2:
ol | @ gl 1A ey war e Ry T
&e | | I Y-

:eidl

T

(dHyera ) ( feraoT)

(a) =R wRTIT (i) T8 AEYE FEE

forrii wiftass &

FifEE g2 a8
3 wnfift 7
AT F WWIidW
Eacid

(i) fagfmdi @1 w8
Taqeig @ S
Exo i d

(iii) goW InqEE fafy
o wiR o avdr
I T Ag @l
A B

(iv) 9fg®  amoa &
Haifas T
ST T

(a) (a)- (ii), (b)- (iii), ()~ (iv), (d)- (D)

(b) (n)- (ii), (b)- (i), (c)- (iv), (d)- (iii)

(c) (a)- (iii), (b)- (ii), (c)- (iv), (d)- (i)

(d) (a)- (1), (b)- (iii), (c)- (iv), (d)- (i1)

(b) HFEfEZRar

(¢) =T favgm

(d) gfevies @m
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Ans. (a) : 1 = I

(o) ofeTss wamaa- (i) fagfodi @t =@ < mimTeia
a &7 ST w2

(b) FAfafEa fa- i) 3w arpEfos feaft Ford
TR H 3fiAr e 9 wg
& S )

(c) =37 favEm-  (iv) AfEF  dEmw W owEiE
[ AT T

(d) g - (i) & SUEfes  owwn F
Hftes @ HIREE 72 W 8
A wifw W dEm R
TS AR &) mﬁﬁ
T &

16. Whatis a toddler experiencing who _h.-.occl'r‘iiied

with pointing at things and asking'wfiat they

are?/Ta TweT Tl ARG W GG LI HHAT §

st woan € 5 @w =T t 1“{ o 3 argva

@ ag §- o \\

() Prelinguistic vocu'ﬁlgsr’m =

(b) Mulu]mgufmc a“nrcnchﬂg g ST

(<) Thﬂmmlngexptosmnfm fame

(dJ An Q‘.'drucme Language Acquisition Device

(1LAD)/ w& wifefEa wm 3@y 99 (LAD)

Ans. (c) : 5 =1 UM & awqH & A # e
TEAE N AR N W PP fE aw oA @ AW
A faEie Fen S i

17.  Given below are two statements, one labelled as
Reason (R). Read the statements and choose
the correct answer using the code given below.

[ 2 arem g o € e um aliema
siv gEw @ &)1 e @ fen, i e Ry
T FE AT I G

Assertion (A): According to Bandura, the
behaviour is fully determined by mental images
of past cxperiences. /3f&e: @wgw &

3TET, STaER gd orgwat i At gfaameit
A vk wy & Proffa B &
Reason (R): Information gained from

obeservations is  stored  symbolically in

retentional processes to make it useful. /7e:

W& | YT AT U Wieharat W 39 94y

T & fag wuefta gt

Code:/Fz:

(a) (A) is false, but (R) is true./ (A) T&W & (R)
wfe & 2

(b) (A) is true, but (R) is false./ (A) & & (R)
wfe e &

(c) Both (A) and (R) are true and (R) is the
correct explanation uf{Mf[M -ﬂh (R) =i
@ § 7 (R), (A) 1 78 e 2

(d) Both (A) and [R] arg Y{uc,ibut {R} is not thc

correct explunahon of, (A]." (A) 3 (R) aFI

e € & (R), gAﬂ-’Iﬂ'@lammTﬁ%u

A e ()5S TWURT & IRER SAEER

e oA i o #1 R W 2

18.  Which Qf the following are true about

mfrihuﬂun"f{[mﬁ'm @ fawm & frefataa o
 EEEad?

'u_.tl) Internal attributions ascribe the causes of
behaviour to personal dispositions and

traits /G OO § ST =@9E 3
TRIU SRl T |AT AW E )

(i) Intermal attmbutions ascribe the causes of
behaviour  to  individual  abilities and
feelings./3AftE TUGET W Sqagr & &R0
afs &1 Eua3 W S & T S R

(iii) External attributions ascribe the causes of
behaviours  to  situational  demands./aTEl
T e e @

(iv) External attributions are always unstable./aT&
TR T AR T

(v) Internal attributions are always
/sridftes Tuiiger wdT R G

Choose the correct answer from the code given

" below: Mﬁﬁﬁmﬁﬁﬂﬂm?ﬁl
Code:/Fz:

(a) (i), (i) and (ii1) are correct; (iv) and (v) are
incorrect/(i), (ii) 3R (iii) =& &, (iv) 3 (v)
e 81

(b) (i) and (ii) are correct; (iii), (iv) and (v) are
E;currecu'(i] 3 (i) T €, (iii). (iv), (v) 7o

|

(c) (i) and (iii) are correct; (ii), (iv) and (v) are
‘iénconecv'[i] S (i) T 2 (i), (iv), (v) T

|

(d) (iv) and (v) are correct; (i), (ii) and (iii) are
incorrect/ (iv) 3T (v) TA 2 (i), (i) 3 (iii)
e

Ans. (n) :

stable.

Ans. (a) : (i), (1) and (i) are correct; (iv) and (v) are
incorrect/(i), (i) 3R (iii) T &, (iv) 3T (v) 7@ B

19.  Using the concept of chronolocgical age (CA),
Educational age (EA) and Mental age (MA),
accomplishment quatient (AQ) is calculated in

the from of/&Fengmine vy (dhw.), fman

amg (iu) oft wefgs amg (TWU) @
Wﬂﬂﬁ & I w gu frata-wler
(uag. ) =t Frafafas & we § dnfe famar
mt:
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(a) 100 (MA/CA)100 (Um.w /8 1)

(b) 100 (EA/MA)/100 (£../mm, 0.)

(¢) 100 (EA/CA)/ 100 (3.0./41. 0.)

(d) 100 (MA/EAY/100 (TR.T./3. 1)
Ans, (b) : Frefa af &1 el o § aefas omg &
I E P s 21
20.

Which of the following are the sources which

lead to prejudice?/f=feriga o @= # '
Uatng @ =g 3 §-
(i) Direct intergroup conflict/S% 3imdmg Fo

(i) In group and out group/3T TR W TEA

e
(iii) Social learning/Trfers e
(iv) Parent's degree ofpre]udlce:'qTﬂ‘.l ﬁﬂl% lﬁ’m‘ﬁ
T A
Choose the correct answer frum I.he wdn: given

below:/A™ rﬁt{‘ﬂ'qiz 'H‘ﬂ'tﬂ “ﬁ?ﬂﬁq
Code:/&Z:

(a) (ii), (iii) and (w}{ (n] {m)aﬁ'{ (iv)

(b) (ii) and (lu)fﬂu}ﬁfﬂ (iii)

(e) (i (i, ﬁu}und ()7 (i), (i), (iii) 3 (iv)
(d) Wiy aed Givy/ (i, (i) 3 (iv)

Ans. (c) : S TR a1 GaTIE & agEl & 9wl
i fe = #)

21,

Arrange in sequence the stage of personality
development according to Rollo May.fﬂ??t " &
IR wfwea fawma & WuEl & wme W
Tattad &)

(a) Innocence— Rebellion—» Dependence —
Ordinary conciousness ol sell’ — Creative
consciousness of sel /AN — faEmdl — fft
5 W & Al 0 W Sl o W a
T T

Dependence—  Innocence—  Rebellion —
Ordinary consciousness of sell — Creative

consciousness of self/Fii— Hﬂ{q - @

(b)

- @™ & TN Rl sEel - =
T e
(c) Innocence— Dependence —  Rebellion

—Creative consciousness of self — Ordinary

consciousness of selﬁ’l'ITEfr—v frfi— famdt

— ™ F TS 9 — T & a] 0 At
EIREa|
(d) Dependence— [nnocence—» Ordinary

consciousness of sell—= Rebellion = Creative
consciusness of self/fffio Y - = F
TR H gl S T - | S e
Ghoi|

| N ™ Code:/&e:

Ans. (b) : Dependence— Innocence— Rebellion —
Ordinary consciousness of self—Creatite cqmcmusncss
of self/frfi— wiE — fasidt —>Hma& i e
A — T F AR 9 N

22.  Match List I with I..m‘ ll'gnd’ sele:t the correct
answer using the tud'c given below:
List I > List 11
(Concept) (Description)
(a) C‘awp]ex.y (i) Non-REM sleep
(b) Apfigca : (ii) REM sleep
. {cj Dr&am:-‘. (iii) Waking up as one
stops breathing
(iv) Symptom of
narcolepsy

":"'-{-d} Night terrors

o=t 1 =t gt 1 ¥ faemy wa Fe g o
Fe # Wl I It
T I

gl |

(dywa) ( fererun)

(a) TR (i) fmr REM =z

(b) YaTETEIY (i) REM iz

(c) &= (i) T IFW JF I
g o 4% a1 &
#m

(d) Tf7 1= (iv) 3Tafus A2 & @

(@) (a)- (i), (b)- (iii), (c)- (i), (d)- (iv)

(b) (a)- (i), (b)- (ii), (c)- (iv), (d)- (iii)

(c) (a)- (iv), (b)- (iii), (c)- (i1), (d)- (1)

(d) (2)-(iv). (b)- (iii). (c)- (i), (d)- (i)

Ans. (¢) : =T 1 Rl

(n) FTerdl (iv) et =iz & wem

(b) vaTaEig (i) T8 3371 =@ |iW o 4

T fa

(i) REM 12

(i) /31 REM iz

The basic unit in the Tluman Associative

Memory model is/TTa wTgwd e wigad @

amurita 318 §-

(a) Association/drgad

(b) Predicate/dd

() Sentence/amd

(d) Proposition/&d-y ¥&E

Ans. (d) : 779 HREd WA e oAl @E

T/ £

24,  Self-disclosure/3ITe YaheiaiuT

(i) serves the function of modeling/aisfem &
i = w8

(i) helpsin devclnpmg a new perspective/T& T
ufteg frsfan & o waz w2

(c) &=
(C)RUERE GET
23.
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(iii) develops trust through dyadic efMect/g™ 7
e fawfom w2
(iv) must be used frequently/aR-am sam faar
Eicileirdd|
Choose the correct answer from the code piven
below: /A4 f&w 7o < T W IW -
Code:/&e:
(a) (i), (iii) and (iv)/ (i), (iii) 3R (iv)
(b) (i), (ii) and (iii)/ (i), (ii) 39 (iii)
(c) (i) and (ii)/ (i) 3T (ii)
(d) (i), (i) and (iv)/ (i), (i) 3T (iv)
Ans, (b) :
.
25.

Given below are two statements, one la._bulled"a's
Assertion (A) and the other labelled. as R';asun
(R). Read the statements and clm!e ﬂu correct
answer using the code givens below. /e 2
m&&w%ﬁqﬁ@mm (A) 3f
7 wdh (R) ¥ avei wi uigy aft = g g
T2 W IO

Assertion (,\)g Tlmugh meager in number, but
womep in Jpdia” have also started avoiding

Im\l“ng children. /afirmea (A): gieniw @m
wem Ul ST aa # wiverd wwdl & fou
TR A i

Reason (R): Women decide not to have a baby

becanse the sum of negative and positive
valence of having a baby is lower than the sum

of valences for pursuing a carcer. fad (R):
uigerd aeen A gy & o fuia gafan wEn
&t =ifs = ¥ & A oft e
wYW vifvR & A, ST " & FwHr vty
| & g
Code:/&e:
(a) (A) is false, but (R) is true./ (A) 7@@ & (R)
w2
(b) Both (A) and are true, but (R) is not the
correct explanation of (A)./ (A) 3 (R) g
T widA (R), (A) & ®el A& 74 21
(c) Both (A) and (R) are truc and (R) is the
correct explanation of (A)./ (A) R (R) S
T € 3 (R), (A) B T8 =
(d) (A) is true, but (R) is false/ (A) Wdl 4 (R)
T 81
Ans. (€) : (A) I (R) 21 T € 3T (R), (A) 3 HeT
= &
26. Which of the following are correct for
Pollyanna principle?/uieitamar fagr= & fag
Prefafa § o= 7 §-

WA SEE @ an-an wam A wel

(1) Pleasent items are processed more cfficiently
than unpleasant ones./q@3 T2 sifra @@ &
e B S < & S
(ii) Pleasant items are prt}ccss&d ‘more uccuratcl)
than unplensnnl ones (HEF T2 310y g @
qa i s 3:rgm H WA i g
(i) Pleasant itepigare retained for a longer period
than upfifeasan{ oncs/GEE W& HF T&
TR i e 3 ferg e ford 6
_(w‘l ‘Ph;asani items are retained for a shorier
pcrmd than unpleasant ones. fqas u= wfia
;‘q’t @ qen # aw wwg & fow wifa B s

Choose the correct answer from the code given
below: /=t & U Fe &1 Wl 37
Code:/Fe:
(a) (i), (i) and (iii)/ (i), (i) 3 (iii)
(b) (i), (i) and (iv)/ (i), (ii) 3R (iv)
(c) (iii) and (iv)/ (iii) T (iv)
(d) (i) and (i (i) st (ii)
Ans. (d) : TN faE & TERwS T w9E 9
8T WAl €1 55 "ed ° ®aA (i) W (ii) T E)
27.  Given below are two statements, one labelled as

Assertion (A) and the other labelled as Reason
(R). Read the statements and choose the correct

answer using the code given helow, /=r 2
ara i u & fred wwm afvmaa (A) el
Zaw Wk (R) &1 21 At @ ufgw of ey
fer g e # wEt I g

Assertion (A): We recall information
accurately if it is processed at deep level rather

than at shallow level. /3fuasma=s (A): &9

WU & YeTRaT WEl F & § afg 3T

WeRFINT WAl T S TG e T O I B

Reason (R): Processing at deep level involves

claboration and distinctiveness. /Td (R): TTgA

gﬁ 1;1 weRaet W faeamt afiy fafyrear wftafim
1

Code:/&e:

(a) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)./ (A) 3 (R) @i
Td € AFA (R), (A) F1 T8 e W@ 2

(b) (A) is false, but (R) is true./ (A) & 8 (R)
o 1

(c) Both (A) and (R) are true and (R) is the
correct explanation of (A)./ (A) L (R) &0
T € 3N (R), (A) 1 T ==& 21

(d) (A) is true, but (R) is false./ (A) 1 2 (R)
e 1
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Ans. (¢) : (A) 3 (R) 2H1 981 € 31 (R), (A) & &
T 2
28.

According to Piaget, which of the following
explains  the concept of  Cognitive

Equilibration?/framst & e, frafafea @

|/ N daeTes AEfean & dHyea @

ST AT

(a) Tendency to integrate structures into higher
order systems/HUae ® I FW A A
Hifed & @it gfa

(b) Individual seeking to stabilize his or I1=r

cognitive structures/@fw T 319 Wﬁﬁ Wy

Tl @1 feR & @ & :
(c) Tendency to modily swclun:,-.-:-ig' nrﬂ;r 10
incorporate new informal_ildﬁ#:-__-lfﬂﬂl'ﬁf Bl
(d) Fact that every ﬂmmc has its origin in
carlier slruu.lu:&sfﬂ"ﬂ’m T THE W 3
EESLC mﬁam i g1 21
Ans. (b) : Wmﬁmﬁmm
e a?rfcmm T YW T &

29, The pattern of excitation and inhibition that
constitutes the activity of the cortex at any
given moment, is called/feReht fi’l{ Y T Y
Foaa ol arEiy @ Ty fed W wmew A
Tora &t &= &, g g-

() Cortical Mosaic/TTeaa ara®
(b) Neuroplasticity/=gtiefiz fet
(¢) Squandrels/TFZe
(d) Sensitization/HadiaRoT
Ans. (a) : 9999 & IER WiERm W IS 3

s F Fga @ U A 9= W vE A F sEEn
a1 Fwifa @@ 21
30.

Match List I with List IT and select the correct

answer using the code given below:

List1 List 11

(Function of perception) (Pereptual issue)

(a) Attention (1) What does that
thing
characterize?

(11) What is that thing

(iii) Where is
something?

(iv) Is there

(b) Localization
{c) Recognition

{d) Abstraction

Code:/&he:

ujﬁlﬁgﬁfllﬁﬁmm;ﬂ%&qw

T | FE I g

el s N\ i

(weaggm & ) (o 722 )

(a) FAY (i) T TR T WA
T &7

(b)m@w (ii) T T4 T 87

(c) e, (iii) @l T2 87

(d;mrm (iv) 7 75 F2 7?2

@) (@)- (iv), (b)- iii), (e)- (i), (d)- ()
(b) (a)-(ii), (b)- (1), (c)- (iii), (d)- (iv)
(¢) (a)-(ii), (b)- (iii), (¢)- (i), (d)- (iv)
(d) (a)-(iv). (b)- (iii), (c)- (i), (d)- (i)

Ans. (a) : &1 1 L1l

(a) 31E4H (iv) ¥41 9@ §2 87

(b) T (iii) el B 27

(¢) TEaH (i) T8 74 T €7

(d) FRIvH (i) 9% o5 T w=fef 5w 81
31.  Sensory-specific satiety takes place in/HeEgT

ferfore dgear 2t &-

(a) Thalamus/4&w8

(b) Papillac/3fa

(¢) Nucleus of solitary tract/Siferzdl #E‘ & wam

|

(d) Insula/3HeN
Ans. (c) : Nucleus of solitary tract/#iiazdl a2 & &g
&
32.

Which of the following neurotransmitters isfare
found throghout the central nervous

system?/Prefafiae & @ w =g
girgiadied @t Shia wfer @5 # wrar s
%-

(i) GABA/TET
(i) Glycine/Tamgd™
(iii) Dopamine/STImEA
(iv) Serotonin/TIfH
Choose the correct answer from the code given
below: /7T 28 TT 32 | W& IW A
Code:/&e:
(2) Only (i)/FF7 (i)
(b) (i), (iii) and (iv)/ (ii), (iii) I (iv)
(¢) (iii) and (iv)/ (iii) 3T (iv)
(d) (i) and (iii) (i) # (iii)

Ans. (1) : GABA (1 3nfrl =2fes uftz) wiqul &g

something?

ifae @3 § arar = g
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33. Match List I with List IT and select the correct
answer using the code given below:

List 1 List 11

(Style) (Description)

(a) Directive autocrat (i) Makes decision
participatively and
gives latitude to
subordinates in
carrying out their
Jab

Makes decision
umlaterally and
gives subordinates

(b) Directive demoerat (i)

latitude in ecarrying |

out their work
Making
pamclpamely /by
close supiervision of
subnrdipam
(d) Permissive democrat(iv) Makmg,/ decisions
. Mupilaterally, but
% S.closely supervising
“=% subordinates

(¢) Permissive autocrat (iii)

Code:/&T:

el EE& !F& ﬁlFI‘IEL‘[ war e fau

FZH Wqﬁm_u

gdr-p | get-11

(:rfhm ( fararor )

(a) Féomes =eomrd () wried & fofa S
W T FE T
FA F oA A

(i) 33 & Fofg &
F TE I QU

(iii) 3 anfai S
Tl e g
wirerdt & favla o

(iv) 303 anfee @
Hel M g
Aot 71 ol

(a) (a)- (i), (b)- (i), (c)- (iii), (d)- (iv)

(b) (a)- (i), (b)- (iii), ()~ (iv), (d)- (i)

(c) (n)- (iv), (b)- (ii), (e)- (ii}, (d)- (i)

(d)_()- (iD), (b)- Q) (e)- (iii)., (d)- (iv)

(b) FEwT e

(c) IS M=

(d) FF[IEE NS

decishons{.”

(c) AT Eworan-
(i) 7% é’r fr‘wiw @ 3
y i @ FE W
, , @waﬁﬁzm
(d) STHTE WeTaATa-

) it mr‘f‘mﬂ 71 fAvig @ 3R
(0 amgw anferedl @1 oS o
' qu FHT ] = A
1he Lm:'lennd Key theory explains/amem-<rdi
fmra ST T -
fl] ‘Depth perception/TETE Szl
“(b) High frequency sounds/3=a mafer eafx
(c) Olfaction/sToT
(d) Colour vision/Tm 3fg
Ans. (c) : Olfaction/smoT
35. A basic difference  between  decay
interference theories is that/gfior it
forgia 3 ue U oA e OE & e
(a) Decay theory  assumes  autonomous

processes/&ivT frgia wfwan it @@ o= 2
(b) Interference  thecory  emphasize  neural
consolidation/arN fa@™ 7@ TEa W 7w
Cod
(¢) Decay theory is a two-factor theory/afiol
forgr wF faare frgra 21
(d) Decay theory assumes unlearning/&fiv1 fogm
AT F FHowT T 8l
Ans. (a) : &1 g sGFg &1 w@rEa T & SErEs an
faar fnft s 21
36.

P
<_r 5

4.

and
arem

Given an opportunity to choose, what should be
the order of preference from ideally most
apprapriate to the least appropriate method to

be uscd for the school studcms'.’fﬂﬁ: gﬂﬁ il
e e T g, 4 Rraerdt R & fg
EYiET ® Wad IUgWw ® oo wad &u
Jugh faftrat @ afemr & -

(i) Counseling/Tumst

(i) Psychoeducation/TAraia® fewn
(iii) Psychotherapy/mfafammn
(iv) Identifying and improving work goals/Frd

Al 1 A R qER

Ans, (c) : =T I T (1) Choose the correct answer from the code given
(a) Freemere; wereomnd- . ) below: /41 el 0 %= &1 T I G

(iv) 3 e & g Code:/Fe:

. P 2rn st & Faofa (a) (i), (iv), (3, (iii)

(b) Freemerss srama- ) . (b) (i), (iv), (i), (iii)

(iii) 310 anfrr=ni 96 &1 (€) (iv), (i), (i), (iii)

frmei g wried @ Foig (d)_(iv). (i), (i), (iii)

& |;\m. (a) = (ii). (iv), (i), (iii) ]
UGC NETAIRF wAfamm= fgefa wy-us faomam, 2008 15 YCT

Scanned with CamScanner



37. The improvement in performance following a

rest after cessation of practice is called/U&H
T W W & IUTH A & ae §SviT
T QU FEe §-
(a) Crespi effect/F@dl yora
(b) Reminisence effect/HEUT S9=E
(c) Spontaneous recovery/Td: TH: Fia
(d) Incremental learning/@mT fenm
Ans, (b) : 31 & AG HA &4 § TEE0] & a9g o
sl U E &1 5 S W e S 8

38,  Match List I with List Il and select the correct
answer using the code given below:
List 1 List 1T
(a) Mental models (i) The :mpacl nl' pm
expenenqmn :
present, blem
wL\ ing’ throunh
hl:i‘lgrziﬂtm‘nalncs

(b) Heuristics {Li] M;nwledge
“structurs that guide

" our interactions

o & with objects and
| events around us
(c] A'.allnbmf);f (iii) Mental rules of
:,unyilus thumb that permit
us to make

\.x, 7

decisions and
judgementsina
rapid manner

A cognitive rule of
thumb in which the
probability of
various evenls is
judged on the basis
of how quickly they
come to mind

{d) Mental set (iv)

Code:/ze:

= 1w PR 1§ ey 9 e g g

T # T T -

Lei! = 1

(a) WTE XfET (i) o o &
A e
T HHET WHYEH
9 W=

(b) =iy (i) & ¥H F@Ad ol

T IE OH &
%ma‘mﬂ H:
sl @1 Bdfem
Caciidl
(iii) R & WS

fam =1 ffa &
i afis § oA 6
2Z O §

(c) SUEH AT

h, iy l.(lﬂ yHfaE wiiea-

(a) (3] fll th) (i1), (c)- (iii), (d)- (iv)
(b)), (b)- (i), (©)- (iv), (d)- (i)
"~ NMea)- (i), (b)-(iii), (e)- (i), (d)-(iv)
(d) (a)- i), (h)- (iv). (c)- (i), (d)- (ii)
Ans. (b) : =T 1 Bl
(i) 9 T | 9 g
Hra-o o awgE ai
ueAIE &1 W g
(i) B F W=
22 F 4
(iv) HTZ F UH HIAE
fram o az=msdi & wwreman
w39 T W vl fam s
2 5 d el &0 & Rmor 4
I #)
(i) =g fawedt & wem @
Td eEl F A wee
LRILIC R I
Agoraphobias/SATde
(i) Usually onset during early adulthood/&m=m:
o T & A O o
(i) Are dnmlnamly found amongst women/
wfgarsit i yud w9 § gr@ =
(iii) Can onset at any age bul mostly during carly
childhood/fFt ff 3w yEIW & TEA €
T SR [ aaemEe § e o
(iv) Are dominantly prevalent amongst men/fFel
i 30§ YEAE & TS & A s
agrEET § E T E
(v) Share more kinship with panic disorders than
phobic disorders/ami® fomm sit pify frm
& WY g@ Hay a1
Choose the correct answer from the code given
below; /A 2 T Fz @ T I T
Code:/Fe:
(a) (iii), (iv) and (v) /i), (iv) 37 (v)
(b) (i), (iiii) and (v) /(i), (iii) 3 (v)
(c) (i), (i) and (v) /i), (i) 3R (v)
(d) (i). (iv) and (v)/ (i), (iv) 31 (v)
Ans, (¢) : THAH & A1 W TH WE & 3NH ITAH el §

) A E
(b) T=A: M- me
q o

_ﬂfél"—

(c) ITE= T=m: -

(d) Tt -

39.

fs 72 gl 7wl w9 @ Fean 81
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40.

Perceptual processes consists of many
things:/yaeromenes  yimomd @3 <fisil &
yniftrer =Tt &-

(i) Perceptual learning/Sea&ondis i

(ii) Motives and needs/iT& 3 snavaEard
(iii) Personality types/aafthd SaR
(iv) Perceptual  cognitive  styles/SeIRUTIES

HTEE Al

Chaoose the correct answer from the code given
below: /419 2@ Tg F= # Wl I W I
Code:/&z:

(a) (i), Giii) and (iv)/ (i), Giii) 3 Gv)

(b) (i), (i) and (iv)/ (i), (ii) 3 (iv)
(e) (i), (ii) and (i) (3), (ii) 3 (jii)
(d) (i), (i) and (iv)/ (i), (i) ALY

Ans. (b) : mmnmmmqaﬁmmmaﬂ
i €

&

41.

Match List 1 with l.tit Il :lmi scleet the correct
answer using the endu_gn‘en below:

List I List 11

(n) Eleclrom}nzmph} (i) Procedure for
measuring muscular

e '_ tension
{I:'ﬁ-._-_ﬁln;;tfbculugraphy (1) Technique for
» recording eye

movements

() Plethysmography (i) Technique for
measuring  volume
of blood ina
particular part of
the body

(d) Stereotactic surgery (iv) Technique in which
devices arc
precisely positioned
in the depth of
brain

Code:/&e:

ot 1 = =t 1@ femgn " e faw o

Al | FE I 9w

11-1& I il

(a) TR (i) AOYTE o F@
AT @ Wi

(b) SO (i) A7 #@ fr
F F A

(c) Ufea=imet (i) W & uww fafe
&9 1 w1 3 W E
B @l i

(d) SifEefes gt (iv) 7w i 43
Hiiash & TEE H
T AW 2

(a) (a)- (1), (b)- (3n), (c)- (i), (d)- (i)

() (a)- (iii), (b)- (ii), (c)- (i), (d)- (iv),
(d) (a)- (i), (b)- (iD), (c)- (iii), (d)s(i rvr

[Ans. (d) 2 (@)- (i), (b)- (ii). (c)- (iii) (d)- () |

42.

Which one of the l'ullm'm]g jis not one of the

Gestalt psycholgiy  Iaws™ of perception?/
# H oWy @

wefaT Prgad &-

(a), me;]m!yfﬂﬁﬁqﬂl

{b) G.lmrefm?m

{'q Relutive size/TmifEE 3R

(dl “Continuity/ @

Ans (c) :
7 §) W us yen @ us @l g@Ea )

AT R AR & e G |

43.

A person who tries to increase compliance by
inducing an individual to agree first to samll

request is using the technique known as/US

@ W, T @fE 3w O A W

WEAw &7 & g IUTEA wET €, aeien

FEerdt ¢-

(a) Foot-in-the door technique/§2-51-3 ER
GETIC

{b) Door-in-the-face
GETICH

{c) Low-ball Icchniquﬂﬁﬁﬁﬁ GETicn

(d) Elaboration technique/faamior fa-ia

technique/ER-34-2 T

Ans. () : BIE Y W TFW T & a1 4i-dit 7
s % AU wewm @ @ aedw @ G2 §9 3 BN
Fd 8

(b) (a)- (1), (b)- (iii), (c)- (i), (d)- (iv)

44,

People with high need achievement usually

tend to/3= IUAH IETAEAT TRt AR

WT=EE: YgH B §-

(1) be persistent in their work/3TH T 0
/e @

(11} like to achieve the feedback on how they are
doing/s9% @R # SgfE Wra FE 96T W §
Ekz gl d

(iii) raisc their levels of aspiration in a more
realistic way/: G ITEET W& uE
awfas 7l 8§ FW 330 &)

(iv) work even if they have no contrel on the
situation/T@ ft &4 Fw § v Rl w =%
foriam = Fm

(v) dislike working on moderately challenging
situations/tasks that promise success. /3ffd
A Rafady, @@t fmd fBfyan seea @,
HET I AYHE F g |

Chonse the correct answer from the code given

below: Mﬁﬁﬂnﬂqyaﬂnﬁtmaﬁl
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Code:/@e:
() (i), (i) and (v) are correct; (ii) and (iv) are
wrong/(iii) 3T (v) T 2 (ii) 37 (iv) 7T g
(b) (ii), (i) and (v) are correct; (1) and (iv) are
wrong/(ii), (iii) 3 (v) TA 2 (i) 3 (iv)
T 2l
(c) (i), (ii) and (iii) are correct; (iv) and (v) are
wrong/(i), (i) 3 (iii) T & (v) 3 (iii)Tem
g
(d) (i) and (ii) are correct; (iii), {iv) and (v) are
wrong/(i) 3 (i) W @, (iii), (iv) 37T (v)
Ted 81
Ans. (c) : (i), (ii) and (iii) are correcl; (iv) and (vl argy
wrong/(i), (ii) 31T (iii) =& & (v) 3 (iii) TEw §1 | X
45.

Motivating potential score comprises™of several
factors which is determined™ -h}f#ﬁ'l'aﬁﬂ
srfirgrraT yTEATE e 'amaﬁ 1’: ﬁﬁ'ﬁﬂ' T g
@ Puffa g g o (O

(i) Sklllvsnetyfm'ﬁilﬁl

(i) [nlelllgcncc@

(i) Task |domﬂ‘y'md lusk significance/FT TEa=
{iwf Aulcnmﬁ_', and feedback/margwmr 3 !ﬁl‘gf!
Chm; he correct answer from the code given

below: /4T f2a M0 g2 § e I gfA0-

Code:/&Fe:

(a) (i), (iii) and (iv)/ (ii), (iii) 3 (iv)

(b) (i), (ii) and (iv)/ (i), (ii) 31 (iv)

(¢) (i), (iii) and (iv)/ (i), (iii) 3T (iv)

(d) (i), (i) and (i) (3), (ii) 3 (iii)
Ans. () ¢ mmmmﬁg&wm?ﬁ
frm s @1 fmfm sfemm wos @ Tl
=feh i femm sifRe s s 41

Comprchension: /9T &en:
Instructions: Read the following paragraph and
answer the five questions which follow, e

forafafgs tooms &t ufge i sad defia st
oier wyAT o1 IV i)

A sport psychologist wanted to study the effect of a
specific type of steroids, She hypothesized that the
consumption of steroid would temporarily improve the
running rale, Seventy athletes in the age range of 25 to
30 years were employed in this work. Two Groups, A
and B, of equal size were formed by random assignment.
The examination of the lwo groups revealed that the two
groups had similar genderwise composition. Group A
athletes were required the drug dosage, adjusted for the
body weight. Group B athetes received the placebo.
Twenty-five minutes (lime required to manifest the
steroid effects) afier, the athletes were required to run a

specific track. The mean time to run lhe track was
calculated for each group. The mean lm'lu: rsqulrcd to run
the track was 180 seconds and 145 stﬁ;onds respectively
for Group A and Group B. Thg migandifTerence was

evaluated by appropriates mllhlénl test/UF @A
Wi U e yERarRits § wE & e
F AR &1 I Feniaeda 3, & ©uEe @1 .
Tl T ¥ PG Fo N 25 W 30 WA &
mmvngﬂzﬁ*ﬁqmmm@mmu
& G FE A SR B a4 MY S & 9% 48 99
ﬁﬁﬁﬁlﬂﬁrwwmwalmAm
UAiEH) A S WK F AR @ # g0 S R

B F Tehea 3 <l v ) 25 ffe & 9w (Ruge
|# v fraemt & fav smaves @) vadEw @ U

fafee & @ e @ o o & fog 4w W de &
NG & FEAEH & 0T 4 TS| TR A I ERE B &
forr d% W 217 w9 & AN Y99 HEYE 180 HaUT
IR 145 FIVE FA WAUH IR T OEFA I9Gw
HifeEa wien & G mn
46. In the context of the above experiment, match

List I with List I1 and select the correct answer

using the code given below:

List |l List 11

(Type of variable) (Actual variable)

(a) Independent variable (i) Age

(b) Dependent variable (ii) Drug dosage

{(c¢) Controlled variable (iii) Gender

(d) Dummy variable  (iv) Time required to
run
Code:/&e:
IUYTH FATT & WA W oA 1w g 0w
feremant =it fw g Rt | Wl 3w G-
el =it 1
(=i & Wa) (aTEfas =)
(2) &dd T (i) #q
O RIGER:ES (i) == &1 gUw
(c) Fafia = (iii) fefm
(d) T = (iv) 324 § &m awy
(a) () (ii), (b)- (iv), (¢)- (iii), (d)- (i)
(b) (a)-(ii), (b)- (iv}, (c)- (i), (d)- (iii)
(c) (a)- (i), (b)- (iii), (c)- (i), (d)- (iv)
(d) (a)- (i), (b)- (i1}, (c}- (i), (d)- {iii}
Ans. (b) : =0 1 il
(o) TdT =W (ii) =& F GOH
(b) T T (iv) & § & w9
(c) fafm = (i) 311G
(d) FEA =T (iii) fefmm
47. The rescarcher's hypothesis in the above
study/30gwh wanT § vt @t ufteedar-

(a) has been verified/wefum &3
(b) has been partially varified/3nfeE®T 4
RG]
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(c) could not be verified due to inadequate
data/3VA@ HFE F T W@ A OA
Al

(d) has been rejected/3TIFA & TE)

Ans, (d) : has been rejected/3ETFA & TEI
48.  Which of the following statistical tests can be
used to analyse the data in the above

experment?/3UdTh WA W et @ fayeria
w & fo Frafafen & @9 9 wifewa
Titarmt @ IuanT fHar 9 g §-

(i) Independent samples t-test/Tdd W= t-

(ii) Paired samples t-test/qfd fazef t- e

(ii)) One-way analysis of vnnnnceﬂlﬂi tm m
fergermm

(iv) Mann-Whitney U test/i=- faa?ﬁr 7] ':rfmw

Choose the correct answer, l‘mm the code given

below: fﬁaﬁqwgﬁmmqﬁq

Code:/Fe:
(n) (i) and [w)f Ll}avfl'{ (1\-)
(b) (i) and (uv]u‘[u) V3T (iii)
(c)0h), (i) and (iv)/ (i), (iii) 3R (iv)
(d) (’Jnlyll}’aﬁl'-{ (i)
|Ans. (¢) : (i), Giii) and (iv)/ (i), Giii) 3 (iv) |
49,  Given below are two statements, one labelled as
Assertion (A) and the other labelled as Reason
(R). In the context of the above experriment,
read the statements and choose the correct

answer using the code given below. /=t ar
T fea o § faed & aifiemaT (o) ofT
A 7 (R) &1 IugwR wEmT & wed H, @
w1 iy i =i foy 7y e @ w3 -

Assertion (A): In the above experiment,
subjects have heen randomly alletted to two

groups. /3T (A): IR wanT o, waTel
T ATieTE wU W 2 WHEN W AreT wam

Reason (R): Random allotment makes the
groups reasonably comparable in terms of

individual differences. /@& (R): dgkes

e wiwe Wil @ ded T WhRl @

Afther T/ g1 & A F=

Code:/&e:

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/ (A) 3T (R) Giei|
Td € a1 (R), (A) ) TE AR F@A 8|

(b) Both (A) and (R) arc true, but (R) is not
correct explanation of (A)/ (A) 3R (R) 3Fi
:ﬁ%’éﬁﬂ(m.(maﬁmmqﬁm

|

(c) (A) is false, but (R) is true./ rm-—naﬁ @ (R)
T4 ¢
(d) (A) is true, but {R} is falsef (A] ‘{-'I'r'\‘il 2 (R)
e 21 _
Ans. (a): (A) 3 (R) 4 aﬁt ‘B T (R), (A) 3 7
T T 8| -
50.  The hy pnllwsfl ol‘ the nbove study can be best
|ahen¢.1rad3n'§m IITT T URAETAT Y FHRl
W &
'i,a)‘ Nutl hyputhesns.-’!l?!l it
(b Directional hypathesis/faeme aREe
(c) Non-directional hypothesis/3MfawmES
e
(d) Non-causal hypothesis/3@RoneTs TREeT
I;‘\ns, (b): Directional hypothesis/ e gfiEean

51.  Given below are two statements, one labelled as
Assertion (A) and the other labelled as Reason
(R). Read the statements and choose the correct

answer using the code piven below. H=r o2
area fed ¢ fred e sirea (A) ei
TAW 7 (R) &) At @ ufy afe = fg o
2t # & W I -

Assertion (A): The information processing
approach is rooted in structuralism. /3fa&a=
(A): =T YERETT IURTH Hl 3 TeHmaR 7 €1
Reason (R): It attempts to identify the basic
capacities and processes thal one uses in

cognition. /AR (R): 4§ 37 & 3w

Uftharal & GESTT T UATH HIA & S S

AT | §UNT ST 1

Code:/&e:

(a) (A) is false, but (R) is true/ (A) T & (R)
e &

(b) (A) is true, but (R) is false./ (A) Tl & (R)
T 21

(c) Both (A) and (R) are true and (R) is the
correct explanation of (A)./ (A) 3t (R) &l
T & 7 (R), (A) F1 T AW #)
(d) Bath (A) and (R) are true, but (R) is not the
correct explanation of (A)./ (A) 3 (R) 3
i @ A (R), (A) 9wl s T 2
Ans. (¢): (A) 3R (R) 2T W& 2 ad (R), (A) F1 T
AT £

52.  Patterns of [amilial transamission of
intelligence from one generation to other is

investigated in/tm fift ¥ Twft @ft = @fig
W Uiaiie g @ Ued few fafr @
AT o WehdT -

(a) Adoption studies/Ti2 fere gu @=dl @1 anagq
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(b) Linkage analysis studies/Seevm fagemm
e

(c) Segregation analysis studies/Ferma fagemm
HeAqq

(d) Adhocracy/aEeemsl o

Ans. (b) : aﬁmﬁ%a{nﬁﬁmmmm
W & T A G S 8 | A g e
qmm%ﬁﬁwﬁmﬁﬁgﬁﬁa{u@m

(d) Association studies/TTEed 3o TE 2
Ans. (b) : TEe=m fEvemo s & 30 U 9t §|| 55, Which of the t'p{luwm{are the methods used in
7ol 9 =@ gfg =1 wfafts s @ i O studying \ﬂfh\Hmrmng »ffrfefaa & & o
AT Tarftrat a'}ﬁ‘::a? Aty @ snEET wE & g
53. Match List I with List II and select the correct Wmaﬁ‘ﬁﬁ’r &

answer using the code given below:

List1 List I1

(Content) (Test)

(a) Addiction Potential (i) MMPI-A
Scale/T

(b) Alcohol Drug
Knowledge Scale ~
(c) Self-defeating Scale (iii) Ror'thtﬂ::h‘ 3

(ii) MMPI-2

Inkblot

(d) Economy Index  4(iv) Mg;ucm Clinical
—\ '”'*Mulliaxial

\ % Inventory

Code:/Fe: \

'q.'u‘llaﬁg;é_‘w %ﬁam:ﬁ&ﬂqwqq\mﬁ

mﬂmgﬁxrr

TRA il

(wTi) (wftaror)

(a) STEA &HAl q19l (i) MMPI-A

(b) UewEa s (ii) MMPI-2

HIYHI

(¢) T-TUwg WG (iii) Tof = w=

i

(d) il Fa= (iv) freza dafas =g
i gl

() (a)- (i), (b)- (i), (c)- (iv), (d)- (iii)
(b) (a)- (i), (b)- (iD), (c)- (i), (d)- (iv)
() (a)- (iv), (b)- (iii), (c)- (iii), (d)- (D)
(d) (@) (iii). (b)- (iv), ()= (i), (d)-(i1)

Ans. (r) : 71 |

(a) ST &TAT WO

(b) UetEd ity = Ao
(c) T TS HHT

T

(1) MMPI-2

(i) MMPI-A

(iv) feem et

TR il

(d) i qaeis (i) o = =
iy

54. In which kind of bureaucracy operating core is

considered as the dominant group?/f&® yar
@ TR ¥ e @R @ puelt Ty &
Y | ARHT FAT -

(a) Machine bureaucracy/m¥i =g

(b) Professional bureaucracy/@aaias il
(¢) Divisionalized structure/Hars Ta

["} bmal learning/ wHAlE TR
"'-':-‘._\_ !.n} Paired-associate ]l:armnngT! =g T
-{m) Verbal discrimination Icnmmg}ﬂﬁiai farire

e
(iv) Free recall/Td Nem@dH

Choose the correct answer from the code given
below: /@ faw T Fz ¥ 7 IW -
Code:/&eE:

(a) (i), (i), (iii) and (iv)/ (), (i), (iii) 3T (iv)

(b) (i), (ii) and (iv)/ (i), (ii) 3R (iv)

(c) (i) and (ii)/ (i) 3T (ii)

(d) (i), (ii) and (iii)/ (i), (i) 3 (iii)

Ans. (a) : 3w @it fafuai afas i & weg|
T & fow wam | @rft a8

56.

Which of the following are correct nccording to
"levels of processing approach" ?/SEwuT & @
I ¥ e fre H eE § -

(a) Recall of words with visual characteristics is
better than words with  semantic
characteristics./3dma faoreasii arel v=i &
g e 2

(b) Recall of words with self-reference is better
than words with sematic
characteristics./37dma favmmsi ae we=i &

|

(c) Recall of words with semantic characleristics
is better than words with self-reference./3TeT

wefifa vl @ e v faswend ae

W= T WA dEal o
(d) Recall of words with semantic characteristics
is  better than words with acoustic

characteristics. /eaamss favmmi @ v=i
F oaen iR fmAei oo v @
WoTRa gt g g1
Choose the correct answer from the code given
below: /3 &3 T F= F T IW )
Code:/&e:
(a) (i), (i) and (iv)/ (ii), {iii)aﬂ": (iv)
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(b) (i)and (ii)/ (i) 31 (ii)

(¢) (ii) and (iii)/ (ii) 37 (iii)

(d) (iii) and (iv)/ (iii) 31 (iv)
Ans. (d) : (iii) and (iv)/ (iii) 3N (iv)
57.

In matched two-group design with 30 subjects
per group, the 't* test would be based on.............

degrees of I'rtedom.fﬂ'ﬂ'ﬁiﬂ s o arfaaew ﬁ
30 fawdt wfy =g Reeelt weEan @il w
amnfia grm-

(o) S8 (b) 30
(c) 59 (d) 29
[Ans. (1) 29 LU\
58.  Match List 1 with List Il and select the cor‘rl'.‘cl
answer using the code gntn below: T
List1 Listll ¢
(Concept) (Descrr[ﬂum}
(a) Fetishism (i) Sexual_afges and
[Grousing  fantasies
. Sinyolving cross-
W ““dressing

(u} Sexual arousal or
fantasics about or
actual use of non-
living objects

(iii) Sexual urges
involving touching
or rubbing a non-
consenling persan

(iv) Sexunl obsession
with corpses

(b) Necrophilia 4

P
|;I. --'.

(c) Fedteyirism

(d) Transvestic
fetishism

Code: /&e:
g 1w e 1 ® T e g s @
wE I G-

el

gl

(Hy=a) ( ferarTar)

(a) ST2TIfh (i) < AR 3R
wferamda aerqm
wifaa &t #1

(ii) < 39 a1
G, arifaq
gl & awfas
I 77 g

(iii) ¥En = ° W
T T e |
T e

(iv) 99 ¥ WA
£ e i

(Y RIEEALET]

(c) ¥irg % TrEM

(d) IR g7 T

(a) (a)- (i), (b)- (). (c)- (iii), (0)- (iv)
(b) (a)- (i), (b)- (iii), (c)- (ii), (d)- (iv)
(c) (a)-(ii), (b)- (iv), (¢)- (iii), (d)- (i)

Ans. (¢) : T 1 T 11

(n) STETYIFTH (u}ﬁﬁﬁimmm
Yoo il s
IeEL g T

(b) Y1 Tl (w)m%maﬁmm

(c) g # TTEA i g.u}m a@fs & g @

¢/ ,—na:r& AT 38

() TR FE] N, (i) ¥ 3P S S

e & £

(d) (a)- (i1), (b)- (iv), (c)- (i), (d)- (iiD)

N Tl'lt Tulln“tn]: are all involved in hunger and
“edting process:/Frafafae  mit w@ afir s

it witrar ¥ ddfta §-

(i) Lateral hypothalamus/939 FE9 e

(ii) Ventral hypothalamus/3et 81397 demH

(iii) Amino acids/31 3t

In what sequence do these act?/di &8 &0 |

4 T 8-

(@) (i), (i), (ii) (b) (iii), (i), (i)

() (ini). (i), {ii) (d) (i), (i1), (iii)
Ans. (a) : FAYTY UTE ERUEGHH F ITHA & GAERY
T3 W § R AE W qF AW 81 s WA
AT ufe 3 fmior g € A I = W T S
3 7 IW wEl deme whmg @ 2 EiR st o A
TG 2
60. Given helow are two statements, one labelled as

Assertion (A) and other as Reason (R). Read
the statements and choose the correct answer

using the code given below. /9 <1 Ty feg
wg § Forad uw sifusas (A) 3ft @ ad (R)
& arei & ufgd aon e fag g wmel @ wh
3w -

Assertion (A): New employees in organisations
generally lack quality threshold performance.

[afiwags: @M W OS9 wWerl AT
TuTET TR wevi U i e

Renson (R): The confusion and disorientation is
experienced by many newcomers to an

organization. fah: TRt dmeT § T@ amd

st W 3w 3T weara wggw Tar W

HaHaT &I

Code:/&e:

(a) Both (A) and (R) arc true and (R) is the
correct explanation of (A)./ (A) 3T (R) Ml
Wl § @ (R), (A) 1 6 A 2

(b) (A) is true, but (R) is false./ (A) T & (R)
o g1

{c) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)./ (A) #R (R) M
w1 & @fEA (R), (A) 3 W81 AT 6 B

9.1
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(d) (A) is false, but (R) is true./ (A) 7o & (R)
T 2
Ans. (a) : (A) 3R (R) &1 WEl € a4l (R), (A) F1 §E
Caite 4
61.

What is the correct sequence of products in
Guilford's SOI model?/fTeTRTE & SOI wT2e &
ITGT T WET hH T §-

(a) Class=»  Unit—»  System—=»  Relation—
Transformation—» lmphcalmm’aﬁ—-r EE0E S
- Wau— TTAE — AN

(b) Unit—»  Class—  Relation—»  System—
Transformation— Implu.duun!'m—l E"f—r
FH4— d3— TEAE EﬂﬂT‘T

(c) Unit—» Class—»  Relation—» S}rs:em—b
Implication—> Transl"ormatmuf{ﬁf—? i
AU - M- T

(d) Unit— Rc]auun—p ff’-ash-» System—
Transformation—= In\plrnnltbn:'%'ﬂﬂf—} TaT—
Tl fHo agEEsy FgwA

Ans. (b) : ﬁwam‘zrsmmﬂqmﬂmuﬁwﬁ

- - - ﬁ-w S

62, Selfn;tu:ﬂmrs can be characterised as/37eW

fra@, faardtge femaT T W §-

(1) Iluvmz more  efficient  perceplion
reality./armfaEa 1 #fus 2 s=m

(i1} Showing greater acceplance of themselves,
other and nature./3T% GF & 3R SFA &
s affr wiarda fam

(iii) Having tendency to be more concerned with
understanding  tasks  that  will  benefit
themselves.) 37 Tl & W 3fvs we=d
3t feim @ < 3 @R 1 @ EW €

(iv) Recognising their own weaknesses but do not
being so anxious of them/3T A=l =

Choose the correct answer from the code given

below: /A fad T F2 T mﬁﬁl

Code:/&e:

(a) (i) and (ii) are correct, (ii) and (iv) arc
incorrect/(i) 3 (i) ®& & T (i) IR (iv)
e 2

(b) (i), (ii) and (iii) are correct, (iv) is incorrect./
(i), (i) 3R (i) &L & T (iv) 36A B

(c) (i), (ii) and (iv) are correct, (iii) is incorrect./
(i), (i) 3 (iv) ¥4 & o R

of

F_a

Ans. (c) : mmﬁzmﬁﬁmw%maﬁaﬁaﬁ
mmmammmnmmﬂiaﬁtm
Ey 1 F3 €
63.

The tendency ufwnrkmgl!#n”nr the "fun of it
creatively and forithes su\'l’uﬁlclinn that comes
from the mnstm nnd-dtl:p understanding of a

problem coméy fmm w0 W 3wz 3l
LipiL %i‘fhu: FfeT uftam @Y F pghT o
feplt, Freen ot g www it I frguer @
it b
M Exploration needs/37u SEvaFard
(ii) Cunum}fﬁf'ﬂm
(iii) Effectance motivation/sfear s
(iv) Internal locus of control/3iafts fad7or T
Choose the correct answer [rom the code given
below: /= ﬁﬁwqxﬁuﬁmgﬁn
Code:/Fe:
(a) Only (i) and (ii) are correct/&ae (1) 31t (i1)
Tdl €
(b) Only (iii) is correct/&a (iii) &2l 21
(c) Only (i) and (iv) are correct/Fad (i) 3 (iv)
w2
(d) Only (i), (ii) and (iii) are correct/Fad (i), (ii)
S (iii) 7 21
Ans. (d) : Wil Fdam @@ @S e 5 e
Fiaa wRem @ F ey T 2

64.  Match List 1 with List 1T and select the correct
answer using the code given below.

List1 List 11

(Attachmant theory) (behaviour related

attachment)

(a) Psychoanalysis (1) Carcgiver's

theory IespOnsivness
towards other basic
needs,

(b) Learning theory (ii) Responsivness
towards nembormn
natrition and
needs.

(c) Cognitive (iii) Newborn

Demlopnament understands Theory
difference between
Caregiver and
stranger

(d) Ethological Theory (iv) Newborn has such

. ) . . characteristic by
(d) !m) and (n..'.]. are LFurrect, [:l] a.nd "{It] are which they get
incorrect./ (iii) 2 (iv) F= B (i), (i) 379 attachment  from
gl Caregivers.
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Code:f&e:

1 = gt 1 & gafew sty eft e g
MY TE T YA A §U TE I H G
=il = 11
( zmafw fagi) ( et wanft s=Zaen)
(a) TfavereT e (i) Faem fog 9 0@
ud 3 e
Eixt) = |
FETEAEA @
‘ £ C(ERIKEG]
(b) 3firm fyzid (i) 7aam forgy & ym
et @
TgreEal @ 0
'W’E.
(c) gy fawm (iii) Wﬂ’mﬂ
PG {aﬂmmfﬁm
Lardl % g 3w
N, g #
(d) Fra-foama {w) e fergadt o TR

(w’fa’fﬁfm)fam fadead et & f&
I %mmamfm 3
b TR W g 21
i‘a) ft)-jfl (b) (1), (€)= (i), (d)=(iv)
(b) (a)- (1), (b)- (1), (c)- (ii), (d)- (iv)
(c) (a)-(ii), (b)- (i), (€)- (iv), (d)- (iii)
(d) (n)- (ii), (b)- (iii), (e)- (iv), (d)- (i)

Ans. (n) : Td | 1l

(a) FAfaTero frgin (i) e fom & e wE
T AR T & Wi
TS Fal @1 ST Y

(b) 3 fggia (1) Fasma vy &1 9w A
I e & S

; .
(c) Hare o (iii) 7w oy <@ wiew

A e e & i W
o 21

(d) 517 famwm (iv) T fargpsit o o

(3eTifoTeT) fervramdl &l @ FF 3

fagin TATEETI W IS S
g &1

65. Given below are two statements, one labelled as

Assertion (A) and the other labelled as Reason
(R). Read the statements and choose the correct

answer using the code given below, /=t €t
are feu o €, frai e afiteas (A) 3
AU @ (R) & @i @ uiyu e e fag
w2t A w3 g

Assertion (A): While scaling the attitude items
(statements) by the method of equal appearing

intervals, median is often used as the mensure

of scale values. /3TTWeRT= (A): |WTH WSioid
aterer faftr grr o waf aﬂ g'chn T
g

Reason (R): The dlstr-ahuﬂ'lm ul' calcgnrlcs.
assigued by the juﬂ;{ai. is, ‘skewed for several

items. /@TTUT (A): g foraa aiftrat
= fermor mwﬁ T g g B 1
Codg: I'B,;Tt!.
(u) LAY, lsfalse but (R) is true./ (A) 7@ 2 @fFa
(R F R
'-:a-,_ (ﬁJ ‘Both (A) and (R) are true, but (R) is not the
= correet explanation of (A)./ (A) afit (R) i
T B Wi (R), (A) F HE =TT i 2
(c) (A) is true, but (R) is false/ (A) T#l 2 (R)
T 2
(d) Both {(A) and (R) are true and (R) is the
correct explanation of (A)./ (A) i (R) gl
TE & A (R), (A) B TE HET F R
Ans. (d) : (A) 3T (R) HI /& & 3R (R), (A) F T8
T T 8
0.

Myelin Stains and Nissl Stains

identify and. respectively./aTsta=

vemr 3w e g=n w3

uge w4 §

(a) Neural pathways, Neural cell bodies/dfTan
gy, fAfTE F IR

(b) Neural cell bodies; Neural pathways/dfF=1
& IR, A v

(c) Neural pathways; White matter/dfF 4,
Tz Terd

(d) Nuclei; Neural cell bodies/=ffF13m, =@
e i

Ans. (a) : "Efm sfig dfE g R Faewen df

F1o wifi 3 vgEE F

67.

Given below are two statements, one labelled as
Assertion (A) and the other labelled as Reason
(R). Read the statements and choose the correct
answer using the code given below, A 2
aren fau mu €, ol uw atfirwas (A) af
ZEW weh (R) &1 avat @ ufey ain e fgw mg
=21 ¥ T T gPw

Assertion {(A): In multiple regression, the b or
B coeflicient associated with a given predictor
is somctimes statistically non- significant,
although the correlation between the criterion
and the given predictor is significant.

JafammaT (A): aggfeE | b AT B TS U
fau wr witrer woTe @ wEibw g @
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wvit-it s g §, Taft SRt oft e

T viaw wurTeE & W WEHad w s

T

Reason (R): In multiple regression, the be or B

coclficients are partial regression coefficient/

FHU (A): AEHFTHE H b W B TS 2TRE

WierTa= T[T £

Code:/Fz:

(a) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)./ (A) 3T (R) 2
Hé T WA (R), (A) 3 W @ T T

(b) Both (A) and (R) are true and (R) is the
correct explanation of (A)/ (A) 3T (R)| ?:"?HI

W€ 791 (R), (A) T HE 2 R L
(c) (A) is true, but (R) is fatse.f LA)_PIfi.é (R)

T 2
() (A) is Fulse, but (Ry'is truel (M Tem § (R)

Ans. (b) : (A) aﬂtm)m u%# 7 (R), (A) @
Eﬁ@ﬁ-‘t -

9. Rules within a language indicating how words

can be combined into meaningfal scnkncex refer

to/var 3 srvia ag Praw Rrpihag g §
o5 yraz & ardui e & WA §-
(a) Phonological d;velupmcnhf‘!ﬂﬂlmﬂi fam
(b) Grammar/SITE0T"
(¢) Semantic t{g{t}opmtnﬂﬂﬂﬁﬂﬂi famrg
(d) Babblifgfgemer
Ans. (b) : m%aﬁmmmzﬂmﬂaﬂﬁ
wifiig, 3§, ST aEe 8
70.5  The rapid changes in performance level as the
“size of reinforcement is varied is called/gae=
& AEN H weend & WO-Tg yeyi W o
waita ageTa wEe &-
(a) Reminiscence effect/TEmTT g
(b) Crespi effect/Fadl @
(c) Spread of effect/¥¥ra Serr
(d) Instinctual drif\/gegias #wE
Ans. (b : T T 31 A1 & IHT NAUA § it
TaE &4 w0 A 6 FER N T S g1 3 i
gt ferdt 0., Ef 3 1042 ¥ RO fEam

68.  Match List lmﬂl Iisl I1 and sclect the correct
ansiyer using the code given below:
List [\~ List TI
(Tests) (Concept)
(a) Block design (i) Perceptunl
reasoning
(b) Similarities (ii) Comprehension
(c) Matrix task (iii) Simultaneous
processing
(d) Sentence questions (iv) Successive
processing
Code:/Fz:
|t 1w gt 1 ¥ faemsy @ e fog o
% & W S I
el o= 11
( wfteror) (Hya)
(a) =0 fe9zA (i) W ahun
(b) THI (i) ST
(c) A o (iiii) WIS WHAvT
(d) T 7 (iv) WiTE wFav
() (a)-(iii), (b)- (D), (c)- (iv), (d)- (i})
(b) (a)- (i1), (b)- (iv), (c)- (i), (d)- (iii)
(c) (@) (i), (b)- (i), (c)- (i), (d)- (iv)
(d) (a)- (iv). (b)- (iii), (c)- (i), (d)- (i)
Ans, () : = 1 LIl
(a) == fewme= (i) e
(b) T (i) STV
(c) fifzam T (i) TR WA
(d) T 994 (iv) s wewH

71.  Given below are two statements, one labelled as
Assertion (A) and the other labelled as Reason
(R), Read the statements and choose the correct

answer using the code given below. Hre 2
aran feuy mu § foad @ srfwma (A) 3w
Zan wh (R) &1 i Ry e arat @ @@ o
f&T 7T we & IMuR °Y SOT g

Assertion (A): Concepts arc used to solve
problems as well as to think creatively.

[sfwRaT (A): A9 WHET GATUE & 91a-
WY TS qree | g

Reason (R): Concepts are useful for identifying
objects and saving us from learning the same

thing and again, /@ (R): Hyeg awgali =
Tga A oft Tt ag B U A A awm W
ITAET §
Code:/&e:
(a) Both (A) and (R) are true, but (R) is not the
correet explanation of (A)./ (A) 3 (R) &
T € WA (R), (A) FT T oA a6 g
(b) (A) is true, but (R) is false/ (A) W& & (R)
e 21
(c) (A) is false, but (R) is true./ (A) TTEw 2 (R)
T &
(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)./ (A) 3 (R) &
Té € 3 (R), (A) 1 W = 2
Ans. (d) : (A) 3 (R) 21 | @ #H (R), (A) # &
A 2
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72.  Given below are two stalements, one labelled as

Assertion (A) and the other labelled as Reason
(R). Read the statements and choose the correct
the correct answer using the code given below,

(a2 arem i o € us atfivsmas (A)
afr gaw @& (R) & = fou o areat @ g
afr feu W Fe & amurt wt I i)

Assertion (A): Spearman  proposed the
existence of general mental ability (G factor) in

his two-factor theory. /3TTa@aT (A): oftaw =
I 39T fFene fogr=s ¥ 9= oafas armer
( G = ) = Fuftafy @ weafen faam

Reason (R): Spearman

ability tests. /& (R): grar Titaror 'E‘s ﬂ'l%;@n o

wffari 3 fafar AT 3T T

arani ,

Code:/Fe: 4\ "'. \ v

(a) (A) is false, buft {ma e/ (A) TR 2 (R)
Rl d

(b) (A) is prie, 'h‘u_q (R) is false./ (A) T 2 (R)
Py T

[l:} Bolh A) and (R) are true and (R) is the
qm‘i‘r.cl explanation of (A)./ (A) 3T (R) @i
T & @ (R), (A) F TE AR F
(d) Both (A) and (R) are true, but (R) is not the
correct explanation of (A) (A) it (R) 2l
;ﬁiﬁhﬂm},m)aﬁnﬁm#ﬁm
|
Ans. (¢) : (A) 3 (R) 21 & & a1 (R), (A) T 76
e & 2
73.

The basic rules of language used for learning
and communication comprise of/aftrma 3fiw

found  poxitive |
manifolds in the intercorrelations matrix) ol‘

74.  Super has given the following stages in his

theory of carcer development ,pnii counselling.

These nrehjﬂ?ﬂ' AU HET ﬁm 3 et
forgr & frerfofae vl ?ﬁ"t fear §-
(i) T'thhlihmenlfﬁT'HI
(i) Mamtenunce-"qmﬁ
(iii) Dccllndm
(iv) fhxpomtlonfm
(V) ,Grthfq&
Whatiis the correct sequence of these stages?
mmﬁmnﬁmwt?

"'"Clmuse the correct answer from the code given
below: f:ﬁ%ﬂ:qnq@rﬁuﬁmqﬁq
Code:/&e:

(a) (v), (iv), (1), (i), (iii)
(b) (1), (ii), (iv), (v), (iii)
(©) (i), (iv). (v). ). Giii)
(d) (av), (1), (v). (1), (uni)
[Ans. (a) = (v), (iv), (D). (ii), (iii) |
75.  Reciprocal determinism is an interaction between
which of the following?/areafts fruiEar
Fa=fefaa # & fewds dra oim:fmar §-
{(a) Person, his behaviour and his environment/
(b) Person's behaviour and his environment/&f%
T R IR 3T AT
(c) Person and his environment/=afth 3T I
rET
(d) Person and his behaviour/=f® 3R 3HEH
AT

Ans. (1) : Tt Fafem @ fafoe @ fage

weme avga 4 fEn an s@d avgw A @ fF @,

FAd g

AW ° Yy 9T & e frant § wwifga ®- (76, Match List 1 with List 11 and choose (he correct
(i) Phonemes/&fia answer using the code given below:
v : List | List 11
(i) Morphcmcdﬂ‘i‘#ﬂ (a) Moon illusion effect (i) Monocular cue
(iii) S}mmxjﬁﬁw (b) Acnal perspective  (i1) Relative size
. . hypothesis
(iv) Speecl /e . {c) Ponzo eflect (iii) Binocular cue
Choose lhs camrect ﬂnﬁ\l:l:l‘ from the code given {d) Convergence (iv) Optical illusion
below: /Ara faw To F= ¥ w& T gfAC- Code:/Fe:
Code:/&<: o=t 1 & g 1 | faensy v = feg g
(a) (i), (i) and (iv)/ (i), (iii) 31 (iv) FHE | T/E I G-
(b) (i), (ii) and Giii)/ (i), (i) 37 (iii) el A
(©) G, i) and () G, G 3¢ () R e o ik
(d) (ii), (iii) and {w]!(u],{nnﬁ( (iv) :
Ans. (b) : =mul, Hi@d 3 dER & o oI & - N
us, (ﬁlm I, ; T (c) sl S (iii) Tt s
Eioi % e =& 21 (d) rfereo (iv) YTy WA
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(a) (a)- (i), (b)- (iii), (c)- (iv). (d)- (i)
(b) (a)- (i), (b)- (ii), (c)- (iii), (d)- (iv)
(€) (a)- (i), {b)= (1), (c)- (i), (d)-(iv)
(d) (a)- (iD), (1)- (i), (c)- (iv), (d)- (iii)

Ans, (d) : &1 1 el ||

(a) T=HT WA WG (i) ®miférE AR aftmerr
(b) 3mETYig ofRa (i) % T

(c) TS ST (iv) Sa¥g we

(d) Fferer (iii) feord wim

77.  Given below are two stalements, one labelled ns

Assertion (A) and the other labelled as Reason
(R). Read the statements and choose the correct

answer using the code given below. [ 2 \
area faa wy €, fred uw e (A) i) )
T 9 (R) & maﬁwﬁq#rr:ﬁ:’tm .

g St W I g
Assertion (A): Frankl described demh as a

boundary situation, an urgent gxpnrferlcr that
froces a person to deu[ Mvilth ‘wn existential

situation. /3TFaRz(4)" et 3 e = T
Hwr frafy & w0 § afvia &, U savas
ava Wt wfe B et sftra ffy @
ozt ot a?-t%mtl

Reason {RJ The boundary situation provides
I]l.‘El'l—emt'ﬂl]'Ilg for the individual. /g (R): Hem
frarfer e w1 TET N T wE B

Code:/&he:

(a) (A) is false, but (R) is true./ (A) T 4 (R)
Tl 21

(b) Both (A) and (R) are true and (R) is the
correct explanation of (A)./ (A) HiT (R) aFl
wft & a@ (R), (A) A w6 e )

(¢) (A) is true, but (R) is false/ (A) 78 2 (R)
e 21

(d) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)./ (A) S (R) M1
wE § AR (R), (A) 3 T =mem T £

Ans, (b) : (A) 3T (R) 31 W@ & a1 (R), (A) B FA

Reason (R): Electrical stimulation clicits a few
hehavioural effects which areyeasy’ to record.

[@T (R): e SV T0 AN, SR 9w
= ¢ o ﬂamé &= a:m-ﬂm 1
Code:/&e:
(a) Both (A) and ER'} IIE lrue and (R) is the
correct explination of (A)/ (A) 3 (R) &t
] € e, (R)(A) 31w = g
(b) (A)'is Yalse, but (R) is true/ (A) e & (R)
e A
. (‘n) YA) IS true, but (R) is false/ (A) T & (R)
HER] EI
(d] Bath (A) and (R) are true, but {(R) is not the
correct explanation of (M) (A) S (R) a1
T & AfEA (R), (A) T T T T g
Ans. (¢) : A Wl 8 & R 7o ¢ @it aaa oo a8
mmmmméﬂgméqﬁ?mﬁmﬁ
& qfrEa & 2l
79. The best home environment for intellectual
development is one in whichfﬁ'lﬁﬁai forema &
forg wafw wiey wder o & forad
(i) Child is encouraged to work oul pmhlems
with guidance and support from pnrcntshﬁl
it rn-fam & wegm 3k et 8 e @
&d & $ o Siefea e s 2
(i1) Parents tell the child what to do./am-fimr
aedl & A R @ & 20
(iii) Child is lefi on his or her own /e Tl IFH
3 T W 978 B
(iv) Child is facitilated more than required. /=3
T T e agrer 5@ e
Choose the correct answer from the code given
below: /= faq Tr @e & W IO HfU-
Code:/Fe:
(a) (i) and (i) (i) #T (ii)
(b) (iii) and (iv)/ (iif) 3 (iv)
(¢) Only ()&= (i)

v # (d) (i), (i), (iii) and (iv)/ (i), (i), (§ii) 30 (iv)

78.  Given below are two statements, one labelled as I,\ns_ (c) : Only (i)/3dd (i) ‘
Assertion (A) and the other labelled as Reason §0. Neurons make up only aboufo.. percent
(R). Read the statements and choose the correct of the Brain's cells and othero ... percent

answer using the code given below. HHa 2
area fau o &, fomd @ afwas (A) 3w
IO @ (R) &1 @i i ufgu s e fag g
2t & whr T g

Assertion (A): Electrical stimulation of brain is
considered to be a more important research

tool than lesion methad. /3THHAT (A): WiETER
&1 &gy Inew, e fufr ¥ arfies weeagut
wirer faftr arefr wmelt )

are glia cells,/=gTT Fam. wiaera witaes

WIS 3M........ fierar SRt ¥ o= &-

(a) 20 percent; 80 pcrccnlfzt)%, B0%

(b) 90 percent; 10 percent/90%, 10%

(c) 10 percent; 90 percent/10%, 90%

(d) 80 percent; 20 percent/80%, 20%
Ans. (c) : =I0A 10% WETsh FNTEET 3T 00% freaa

T | a9 & 3
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81. Raphe Nuclei are most closely related

10.esvesereenrrs NEUTOLFANSMitter/ T aelt Talftar

wiE W o gig=adeT @ weEfiw §-

(a) Norepinephrine/~efTTus=

(b) Serotonin/HUZH

(c) Epinephrine/Tf-uhi=

{(d) Glycine/TaEHH

Ans, (b) : T I W= T d T S arel =g

& WU @ A AR & s @ adi )

82. 'Vacillation of thought and bchaviour' is
associnted with the following types of

conflicts:/ it wmmgw #  aftaEr

(a) Approach-avoidance and m_foidipc’éa
avoidance/39rm- UftER 3R wfteR{ TiEn
(b) Approach-approach, upprnnch-ﬁ:v"nidnﬁcc and
multiple  approach- avmdancemm Iy,
Famm fien R ag - huicy
(c) Approach- apprunul] ﬂn&nppmuth -avoidance/
IYITY- I $R I SRR
(d) Avmdan{pﬂ-:;\*ﬁlginn:& approach-aveidance
and ~miiliple’ approach-avoidance/3fEm-
Ans, (d) ARl @R @EER T siftetar ofeR-fEr,
IUTH-URER A & UMW N dWl aw @ #ed o
g a1 fired &)
83.

IHumanistic approach to personality s

characterised by/@afthea & W= IR @/

farvraemd £-

(1) Emphasis on personal responsibility/aafema
forrard w a@

(ii) No denial to importance of past, but more
focus on present/Yf & HEE F FER A T

TC FA W A e

(iii) Description ol naturally striving
persons/STFaa T § Waraw =Afs & auf

(iv) Description of individual difference alang
some below: /@ fammedt @ =aftem 3fad @
faam

Code:/Fz:

(a) (i), (ii) and (iv) are correct; (iii) is incorrect/
(i), (i) 3T (iv) =& 2, (iii) T 2

(b) (iti) and (iv) are correct; (i) and (it) are
incorrect/(iii) 3 (iv) T & 3 (iii) T T

(e) (1), (i1) and (i) are correct; (iv) is incorrect./
(i), (ii) 3 (iii) T R (iv) TEm

(d) (1) and (1) are correct; (i1) and (iv) are

incorrect./ (i) 3T (i) T & (ii) 3 (iv) TeA

i

Ans, (d) : mﬁ?a?rnmmmngjhmmm
e Sl &1 A el o 8l A
84,

Which of the following atc wibe t‘nncmumc
dences"fﬁlﬂﬁ"lﬁﬁﬂ ﬁ ﬁﬂ'ﬁqﬁ WeTa® 9
£

(i) Categoricql f:h:slurs?ﬁ“ﬁ i TR

(ii) Feg-wbrdw,systénﬁlmﬂi' GE]

(iii) Mtlhﬂdﬂf‘lnmﬁﬂﬂ fafa
o= {w] Ifﬁunsllc!'ﬁ?l ity
Chobse he correct answer from the code given

r.

',\:

T “Below: /A f&w ET4 q W I qfAu-
frfefas & fhw yam & weod & defum &, 0

Code:/&e:

(a) (i), (ii), (iii) and (iv)/ (i), (i), (iii) 3R (iv)

(b) (i), (ii) and (iv)/ (i), (ii) 31 (iv)

(¢) (i) and (ii)/ (i) 37 (ii)

(d) (i), (i) and (iii)/ (i), (ii) 3 (iii)

Ans. (d) : Td: 7 fafy geen gawe 9 gEE 2 9
Wy T faf 7@ 21

85.

Interpersonal  justice refers to  judgements
concerning thea.. -
E11 T FOR—— individuals are shown by partics
responsible for distributing available...............

to members of a group./3fadafha =g aATaT
t f5 fufa = ... -3t gy &
171 L -3 OO - (< | {1 AU
=ivRal &1 30 famred femmar s

(a) courlesy, considerateness, rewards/3TIR,

(b) considernteness, courtesy, rewards/g@ETeTar,
MR, QIR
(c) courtesy, considerateness,
e, SreEA
(d) considerateness, courtesy, incentives/ZRI,
TR, NTeE
Ans. (b) : considerateness, courtesy, rewards/gEff,
AN, ‘I‘!WI'{
B6. Given below are two statements, one Iabelled as

Assertion (A) and the other labelled as Reason
(R). Read the statements and choose the correct

answer using the code given helow. H=r 2
arem fau o € Rred us aifimaa (A) afw
AT Weh (R) &1 @@ &t ufgw s i fag o
e | W I qF-

Assertion (A): Rogers contends that ideal

condition for the development of healthy sell-
concept and movement towards hecoming fully

incentives/3TR,
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functioning is unconditional regard. /3TfoeRa=T
(A): e & gEar gda @ fR Uw we
wya & faemg & o i wof rdm e &
fore formm v woien @n wWewfv @ wome @
ey ftafe &

Reason (R): Unconditional positive regard can
generate incongruence between true-sell and

experience. /e (R): T v o & @9
st ol arqwa & e erdEer IEw @
wEdt &1

Code:/Fe:

(a) Both (A) and (R) are true and (R) isfthé
correct explanation of (A)/ (A) 3T (R) i,l'rﬂ s

Th AU (R), (A) F T = Ry
(b) (A) is true, but (R) is I'alse.." {A}”c’lﬁ ﬁ (R)
e 8 -
(€) (A) is false, but {,_R_l_im_wuc.!m) T 2 (R)
w2 W'k
{d) Both (A) and, (R} arc true, but (R) 1s not the
correcl esplsnallan of (A)/ (A) 3 (R) g
@ § TR, (A) R T =TEn T
Ans. (b) : AGRELE T e @ e Fen v e e
W AR e & 4 W IwA & 8, A fF
HHTTW
87.

Academic achievement had a multiple
correlation of 0.65 with the three predictors-
intelligence, achievement motivation and socio-
economic status. How much variance in
academic achievement is explained by the three

prediﬂurs?fiﬁﬂ ferument- qﬁ‘z. Juwfeer
afiimon ol annfae snfds frafa & mg
FFTS Mk IUCITET & FgeeHay 0.65 §1 A1
it & g srEEme Sumter W fEad
WU ST ST Bl §-
(a) 42.25 percent/42.25%
(b) 35.00 percent/35.00%
(¢) 65.00 percent/65.00%
(d) 57.75 percent/57.75%
Ans. (a) : 42.25 percent/42.25%
88.

Match List I with List 11 and select the correct
answer using the code given below:

List 1 List 11

{Books) {Authors)

(a) The Analysis ol (i) Maslow
the Sell

(b) Motivation and (i) Kohut
Personality

(c) Freedom to Learn
(d) Man's Scarch lor

(i) Rollo May
(iv) RGEDE:‘IS__I__L"_:,

Himself
Code:/&e:
qﬁlaﬁiﬁﬁllﬁ'ﬁaﬁqmﬁ-&ﬁqw
F # Wl T I
Ll '- CogE
(e of N~ (sE®)
{n} amﬁﬂﬁum (i) ¥
(=N
(h} AayE U (i) TE
LT Tl fEra|
(c) ¥7em Z o (i) Telr 7
(d) %7 7 5w (iv) T
few wew

(a) (a)- (i), (b)- (1v), (c)- (1), (d)- (i1)
(b) (a)- (ii), (b)- (i), (c)- (iv), (d)- (iii)
(c) (a)- (i), (b)- (ii), (c)- (iii), (d)- (iv)
(d)_(a)- (iv), (b)- (iii), {c)- (i), (d)- (i)

Ans. (b) : T=T 1 T 11

(a) T Tt 3% % (i) TF2

(b) AR v wEfad (i) e

(c) %Iz g o (iv) T

(d) 7 7 T B e (iii) T &

89.  ceeeeen. such  as........believe that depth
perception is innate o I .

faryara @ £ 7 e yeasor s g §

(a) Nativists, Descartes/Tgs FF@M@1, ZFTd

(b) Nativists, Berkeley/®&t Frardl, add

(c) Empiricists, Berkeley/31Tmaardl, a4

(d) Empiricists, Descartes/3vaard, &

Ans. (a) : TESITHER] o4 % g@6 92 favam @ 2 5

TR SR T e 2

90.  Math List I with List 11 and sclect the correct
an suer using the code given below

List 1 List 11

(Item) (Description)

(a) Considerateness (1) Going through
difficulties for his
owen benflits

(i1) Control the
distractive emotion
and practice  sell
regulation

Fullfill the duties
towords parents and
respect their

rights.

using logic for his
own benefits

(b) Justice
(c) Patience

(iii)

(d) Moderation (1v)
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Code:/&e:

=t 1= gl 11| gateaw st oft 9 g

Y T T WA HA U WE I @ A

il o=t 1

(=) ( faawon)

(a) Fearefa (i) 3 TR & fom

(b) =™ (ii) fomzrd @&t
frafm @ 3R
STEYRA &
IETE FHET

(c) die (iii) ran-foan & f
afawil @ g @)
afnmaqﬁza:rﬂa;r

(d) feramam (iv) WW% fer

. ﬁaiim+3trm FAl

(a) (a)- (iv), (b)- (iii)gfe)- (1) M- (i)

(b) (a)- (iii), (b)- (iv), t&)- (1), (d)- (i)

(€) (a)- (i), (b)- (i} (c)- (i), (d)- (iv)

(d) (a)-(iv). ﬂ"]‘- (1), (c)- (1), (d)- (i)
Ans. (a) : q?fu il
{n}{l"’ﬁfﬂl {W)WWEWHEEWW

oo

(b) =g (uu.]w-ﬁmﬁnﬁzrﬁﬁﬁaﬁ{ﬁm
3 F7& vl & e FE
(i) 319 wrae & fo wfemmdl | Een
(i) Ferez=rrdt wami &1 Fafm Fn o
SIS & 3 F0

Creative thinking is a combination of.............. in
thinking and.............. in understanding to

produce........ ideas and......ccee... S faaw
e Ao 7 TAR § M = I
& & forg g o faamif afv.......e...
(a) reorganization, flexibility; solutions/
TG, T, 74, g
(b) flexibility, reorganization; novel, solutions/
, AHETA, 76, T
(c) flexibility, reorganization; abstract, solutions/
A, TTHTEA, TR, 7
(d) fexibility, reorganization; innovative,
solutions/ THTENYA, THHATSA, AdMEH, &6
Ans. (d) : flexibility, reorganization;
solutions/@diema=, TR'THTIT-I, TarEn, &
92. What is Piaget's term for a child's uneven
cognitive performance, an inability to solve

certain problems even though one can solve
similar problems requrining the same mental

processes?/asat & ifrafia daTES weviA,

(c) =it
(d) Frmam

91.

new,

innovative,

\ 73,

T AHRAT & T FAA FI AT AAtn IHT
TER F T wwesit i e e
wiewar T &, & T s & mi—
(a) Invariant develupm:n!él sequen:efﬂqﬁ?fﬁ"ﬁ'ﬂ
famaes wm \¥
(b) Represenlauonal mghﬂﬁﬁﬁm T
(c) A- nol-Bm‘rnrf A - 78 B- 3¢
(d) kazonlal dccalageféﬁﬁ Iy
Ans. (d]-aﬁwmmmmmwé
R TG T 31 ST R % T @ e
ST e s frard w8 3 o @)
Given below are two statements, one labelled as

. Assertion (A) and the other labelled as Reason
(R). Read the statements and choose the correct

answer using the code given below. [ 2
arera fea o € Rl @ arfiaas (A) ot
TR ek (R) %1 e & uigu 3fn e faw
el & HErEaT  WE I &30

Assertion (A): Thurstone labelled his theory of
intelligence theory of primary mental abilites.

jafimaT (A): @RT T 3w @iy fagmm =
wrifive wAfies smare @ fagre= =

Reason (R): Thurstone found more than two
first-order factors of intelligence through

orthogonal rotation. /@& (R): @RA =
afie WEvH & 2 | it yaw & aig
H QTaT o7l
Code:/TZ:

(a) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)/ (A) 3T (R) 3
Tl & afE (R), (A) T 5 =@ 7 4
(b) (A) is false, but (R) is true./ (A) T@ & (R)
adl {1
(c) (A) is true, but (R) is false./ (A) W & (R)
e 2
(d) Both (A) and (R) arc truc and (R) is the
correct explantion of (A)./ (A) i (R) |
T & 741 (R), (A) F TE =mem &)
Ans. (d) : (A) 3T (R) <FT @ § 741 (R), (A) ) 6@
= #
94,

In response of questions asked by teachers,
Avan keeps jumping up with a raised hand on
his seat till the techer asks him to get up and
answer, He also remains uneasy. Which is the
most appropriate way of dealing with Ayan by
the teacher?/3EATTs: EAT UG 7T WY1 & wamd
T, Ia= TS 7Y IoTed It Wiz o wE 9
IUAA AT & TG A R ananrss 3w I3 afir

warm 23 & fou =i @ wg fer ot v
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T # am ¥ fued & fau smams g
TEH IUGH AT T §-
(a) Extinction/fa@
(b) Shaping/Ta1
(¢) Didactic counselling to explain why this is a
bad habiv/ag =a+ & fou fd a2 @ua ¥ @
femmz T
(d) Response cost form of punishment/3F T F
T &8 & ®Y H
Ans. (a) : NTA 5 59 591 @ 30 e s &1 §
At P & A g R R fae 3 sife sugw
St i @1
95,

Assertion (A) and the other labelled as Regson
(R). Read the statements and choose ghie correct

answer using the cndc given heTm Fﬁ& EAl
ar fgir mo § fawt v (A) 3
AT &R (R) tlamraﬁﬂﬁ'qaﬁ'rﬁﬁu;
T W TR G,

Assertion (A): As oneenters a dimly lit room
after heing expue;l to bright light, retinal rods

become more !tnsllhe farfEmas (A): 9
aﬁt*’ﬂw VW | W 9T AT FW F 7 §
k38 34'&73‘7 HagToire &1 = £
Reason (R): Dark adaptation enables a person
to see in dim light. /&0 (R): 3fT e
= & & T B 2@ & A @\ g
Code:/&Fe:
(a) (A) is true, but (R) is false./ (A) T & (R)
e 21
(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)/ (A) 31 (R) 3l
T € A (R),(A) 3 =8 =mem = 2
(c) (A) is false, but (R) is true./ (A) T&d 2 (R)
T &1
{d) Both (A) and (R) are true and (R) is the
correct explanation of (A)./ (A) 3R (R) 3
@@ a9 (R), (A) S w0 @ o 31
Ans. (d) : (A) 3 (R) 1 W& € 741 (R), (A) &1 &
e A
Instructions. Read the following paragraph and
answer the five questions which follow, /fEw:
frafefigs fooe & eam @ ufge war = fag g
i WAl @t It St
A researcher working in the vocational interests surveyed
difTerent interest assessment tools and afler a careful
scrutiny selected 68 scales presumably covering all areas
of vocational interests. He administered all these scales
to a large sample (N = 750). The researcher correlated

y thret

Given below are two statements one lablled,as)

every scale with every other scale and obtained 68x68

corrclation matrix. The 68x68 correlation matrix,
without altering any of the diagonal e!cments. was factor
analyzed and the unrotated factors s,\ﬁn. e;qux:led The
Cattell's scree suggested 11 fjll:!Q].’S '.'-frere as Kaiser-
Guitman's rool 2 1 criterith ‘shggesled 14 factors for
further rotation. The eleverfaclors explained 72 percent
of variance, The eleven factors were varimax-rotated.
After cxnmmmgx lhc fesults and  discussion, the
researcher decided (& carry out the second-order factor
analysis. ].l;:. ltaclcfmc re-rotated the eleven factors and
foupd lﬁ‘al some of the inter-factor correlations were
ﬁrrl;, h?gh The second-order factor analysis suggested
second-order  factors which  were l'.nriy

‘ﬁnerprttahle [T viEa T a7 o a1
a fafm =fa qeEE 9 @ wEE S R iR
e S F 9 aEatas w59 & amm wf et
FN WA A 68 WO @ A 1 T8 34 WA
uF 92 whed N = 750 W Senfhd s ¢ viaA 5o
R #OZEO WMET # FEEAtT S € A 68x68
wgwAy AfZaW UM ) 68x68 WRHAw Afzaw & fam
fadt famol o @ wew @ faverw fm T 3R
UG T W AR T FEE WS SR 1
T AR S A A > | FHi 14 F® 0 & G
& fou aamr 81 11 SRS 72% w1 ) SEn s g
11 Wt & G0 ol fda mm ofom F s 6w
e & AR, Vel 4 G w e e s
frofg foram @@ swa 39 11 Fai F1 @ gfels R o
% T2 it TR wewdy 3@ Wi § Ied 41 fadd @
#ra; favemw 7 78 q9E T & 3 i #n e s
il | =rEn & 4 {)
96. During re-rotation of the first -order lactors,
which of the following methods is/are likely to

have been used?/TT: T & ¥ yaw wA
e, Prafafiga © o wnnfes wo @ faa
faftr-faftmat @ suan feawar wram-
(A) Oblimin/3nf=afmT
(B) Promax/STE0
(C) Quartimax/Farfiag
(D) Equamax/33amay
Choose the correct answer from the code given
below: /4 5@ 7w gz # Wt 39 T
Code:/&eE:
(a) (ii), (i) and (iv)/ (ii), (iii) T (iv)
(b) (i) and (i) (i) 3 (ii)
(c) (iii) and (iv)/ (iii) 3 (iv)
(d) Only (i)/= (i)

Ans. (b) : (i) and (ii)/ (i) 3T (i)
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97.

The three second-order would explain........... -
of the variance among 68 scales./68 wratra %
3 fedfa wn @ foon e @ s
-

(a) 72 percent/72

(b) 100 Percent/100

(c) less than 72 percent/72 & &

(d) more than 72 percent/72 & wfam

Ans. (¢) : more than 72 pcn:cnt." 72 9§ 3w

98.

Given below are two statements, one labelled as

Assertion (A) and the other labelled as Reason {
(R). Read the statements and choose the copreet |

answer using the given below, /5=t 2 @@y ﬁq

o & e afemee (A) ST R wR
(R) tmma‘hrmaﬁr:ﬂﬁmﬂq@-ﬁv
Assertion (A): In ['hc al;ovc work, the
researcher preferrcd™Gattell's scree-plot over
Kaiser Gnltmanm rl:;ﬁl 1 criterion. /3Tfaea=
(A): TUdH @, v ¥ ST el g
21 H?Fﬁz"r & ST Szt it T @t wrafiaar

Reus‘ap"‘(R]: Even with a small number of
variables, Kairer- Guttman's criterion always
leads to the extraction of more factors, as
compared to Cattell's serce. /&RIUT (R): BT
wEm 0w F wy ot S el we
&eoredt @ e # aifts @t @ A
Tt g1

Code:/&z:

(a) (A) is true, but (R) is false./ (A) @& 2 (R)
om &1

(b) (A) is false, but (R) is true./ (A) T&@ & (R)
w2

(c) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)/ (A) 3T (R) 2l
T € @l (R), (A) 3 T =6 T D

(d) Both (A) and (R) are true and (R) is the
correct explanation of (A)/ (A) 3 (R) &Fi
T & A (R), (A) F T S 2

Ans. (a) : (A) is true, but (R) is false./ (A) T & (R)
e 7

99.

Given below are (wo statements, one labelled as
Assertion (A) and the other labelled as Reason
(R). Read the statements and choose the correct

answer using the code given below./ST=r 2

e fau wo € frod uwm afimae (A) elw

FRU FAW (R) tuaraﬁfahuﬁaqafﬁrﬁﬁm{
MEFIFFRIWIRT- A

Assertion (A): In  the lhma work, the
rescarcher preferredy C‘ttnll' sCree  over

Kniser-Guttman's ronlg ‘Weriterion. /3TfH&wa=
(A): Tudws = i vitreat # S wehT e 2
| Tt &, F et W wE S yrafi

Rt'n!uu (m 'Tlll: angles of separation among
&arlmn-ﬂ:tntcd factors arc non-nincty. /@TUT

R, Hirta gui @, e & @ 90
_:lﬂ &|

Code:/&He:

(a) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)./ (A) 3R (R) &
Wt & A (R), (A) 3w @ T e

(b) (A) is true, but (R) is false./ (A) W&l 2 (R)
T €

(c) Both (A) and (R) are true and (R) is the
correct explanation of (A)./ (A) 3T (R) @i
T E 7 (R), (A) F T =mEn &

(d) (A) is false, but (R) is true/ (A) T&d @ (R)
W &

Ans. (c) @
correct explanation of[m.f (A) 3t (R) et T § Gt
(R), (A) 3t =t samen off 21

Both (A) and (R) are true and (R) is the

100. Which of the following Tfactor extraction

methods have not been used in the above work
while extracting the first-order factors?/

farfefas o @ df e faesdor faft, gao
TR T & FIeRdr & wwa T yanT @t
(i Principal axes method/E<ilew 2 fafy

(ii) Principal componenls method/T2ifa® 3maT
fafar

(iii) Maximum likelihood method/F ¥R HWET
fafa

(iv) Generalized least squares method/=Faw
wET @i fafg

Choose the correct answer from the code given

below:/Ar¥ f5& e g2 § W Iw

Code:/&T:

(a) (i) and (iii)/ (i) 3T (i)

(b) (ii) and (iii)/ (i) 3 (i)

(c) (ii) and (iv)/ (ii) 37 (iv)

(d) (i), (iii) and (iv)/ (i), (iii) 3R (iv)

Ans. (d) 2 (), (i) and (iv)/ (i), (iif) # (iv)
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